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A.Scientific Knowledge and Scientific Temper Power of Reasoning - Rote Learning vs
Conceptual Learning - Science as a tool to understand the past, present and future.
sifiaflwleL siMle LMHMID UGS SMaNen HMIaNuleL OETLILITETENLD MMV - Rote
Learning vs Conceptual Learning - SINIQILIEL &L_H& SHMeuLDd, HISLDSHTeVLD LDMHM)ILD
§157&M0GHMG LI LIIh G| CHTeTeUSHMSBITE 62 (15 &(HIITGLD.

1

Rote memory is the ability to memorise verbal materials as measured by
the usual methods of

(A) Reeall
(B) Recognition
(C) Recite

y All of these

(E) Answer not known

perum. Hleaeurpped aug Gerpsr Qurhasamar oy G Spdr <3G
Qs <erefl LwaLGD QuiTglaurer (pep (&eT) eremLig) (eweu)

A) peoaeysmisd

(B) é|rﬁ1£5lﬂ§,g,sb

©) Sopbu elysdisse

D) Qweiser SamanssId
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Intelligent behaviour directly depends on
W Memory
Instincts
(C) Innate Behaviour
(D) Reflex

(E) Answer not known

DB HLSs &gga;sum_mg)g;m CTHEN G Gpﬂ'lq.l.u & ST HS|6Teng)?
@) Poaarpo
(B) e dnepemriay
(C) eeramrips pLHos
D) Gréuesii
3
Mental inertia and dogmatism are the harmful disadvantages of

et Hlapeioid, senapeeiy - @eeuudgerpl —————ar ShiE dmereilsE b
@epurh&er

(A) Generalization

GQurgleblIUHSSHIFeD
(B) Scientific method
iflefluic @peop
(C) Inductive thinking
ger_e Spbgene
Jb) Empirical thinking
e &bsener
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. Assertion [A] : Critical thinking’focuses on what cauées a belief

Reason [R] :  Critical thinkii;g entails evaluation and formulation
apd it operates according to rational standards in
that beliefs are judged by how well they are
supported by reasons.

(A) [A] is true but [R]is false

(BM[A] is false but [R] is true . |

(O Both [A] and [R] are true, [R] is the correct explanation of [A]

(D) Both [A] and [R] are true, and [R] is not the correct explanation

of [A] |
(E) Answer not known

U [A] : o pw fpseern, @ m}h‘lﬁlei;é)q;mu FHUBSSIeS @é;@u.t
h | &TJERTONS DNDEDF). |
smetn [R] :  eqbw fpseen araugy wHUSE whpib 2 Heunssn pdueupenn

caraTLsdug  LHDD G UGESDY &7  Heoesdiay
G&ms‘ou@@m@.' SipS POUEMEEET STFEMEISATTD GTELELETEY
Apliuns geRssiLGlapar  aeLgen apeLd
Srwraflssuu(GHDg.

(A) [A] afl, syame [R] peugy

B) [A] poup. e [R] o -

©) [Al wppw [R] @rem@i sl wpgd [R] edrg [A] «pe sfwne

eflenésLonGLD '

D) [A] vopw [R] @rean@o sf, wpmb [R] eremug [A]lepe sfwmar ederésiwdw
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5. Deductive reasoning enhances the speed and efficiency
problems.

W in solving
“(B) 1in creating
(C) in initiating
(D) in imitating
(E) Answer not known
Gréfeversenar — Gméﬁlmgum Spmab uGsshse <piia) SHper
CwobuBsmdns.
(A) Srouude
(B) o marsEadod
(C) sauss uHfuie
(D) Gures Qsweudle

Learning multiplication tables and English alphabets is an example of

(A) Concept learning

(BIVRote learning

(C) Inductive learning

(D) Heuristic learning

(E) Answer not known .
AuEBESS amiILTG WH DK B er@,sgm as;ogoguas@ 2 STTGRTONS awwmg
() smis spp

(B) Qungper 2amymod spped

©) APaum sdps

D) senfl sppe
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197. Which one of the following gives the meaning of superstition?

& Mythical (B) Scientific
(C) Factual (D) Analytic
(E) Answer not known

Spaa@rLeubmier ezl epLpldEmauder Qummenars GMNUEGRSE DG ?

(A) yprewid eriips (B) <ifelwed Liairar
(C) samewwrar D) uELumiey

Memorization of Information based on repetition is called

dmbu  Ambu  gsaume warHd LUy @ealiug GTehTm)
SMPESILHHDG).
(A) Conceptual learning J Rote learning
SHUMSTWTET SHHL wertiumL b QEigy &HH®
(C) Meaningful learning (D) Active learning
QummerHbg &Hme Geweler sHmed

. The imperative planning is also called
(A) Indicative Planning
(B) Normative Planning
Target Planning
(D) - System Planning
(E) Answer not known
seflités Quers How 'éqebeug} C slLmuorgd  HlLB@se  @dermhd
SINPESLILIL QLD

@)
®)
L ©
‘O

GMEE@W S8 ed
Qpdwep S 18le
VTGS 'E_‘S]L'._L_LIS]L..GolJ.

ey S Ll e

10
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. If there is a solar eclipse the street will be dark. There is a solar eclipse.
Therefore, the streets are dark. What kind of reasoning?

(A) Inductive reasoning
(B) Deductive reasoning
\J#” Conditioned reasoning
(D) Linear reasoning
(E) Answer not known
Ghw Hrsend gHULLTD Sigamd Osméser @nem@n. Giflw Sysenrid
@HLiLsTed CgméseT B)(HeTTs 2 eTeng). @ s sTraTLILIOSSISO ?
(A) Qsressd smaTLUOSSSD
(B) u@Essh smeTiLbSSISO
€C) PHeoouypssuull smaiLbEgsod

D) CpiCGam @ sryeariuBSSI5D
11

The first stage in the development of a concept 1s
(A) Reading
(B) Questioning

Sensory exploration
(D) Reasoning
(E) Answer not known
sm&g euerisfluller apge Hlene
(A) arégzo
(B) o&ferm GalLeb
(C) . yowenr speumymiiss
(D) sryewtib srewred
12
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What are the characteristics of rote learning?
Gummer o emymod sHpdlan LdTUSdT WiTmel?
(i) Passive Process
Clewahn shnd apsan
(11) Parasitic learning
el Harent| sphme
(i11) Active learning
Aewella shpe

(iv) Teacher-Centered

2 Aflur Frifss
(A) (iv) and (ii) only ’ {(B) (i) and (11) only
(iv) whmub (11) i G (1) womib (11) wiFib
(C)V’ﬁ)', (ii) and (iv) only (D) (1i1) and (iv) only
(1), (i1) whgus (Iv) vl @Ew (i11) wpmb (1v) wiHib
(E) Answer not known

13

Which of the following best defines rote memorization?

M A learning process that involves repetition until something is
remembered verbatim.

(B) A method of writing something down in order to remember it more
easily.

(C) Repeatedly quizzing yourself.
(D) None of the above.
(E) Answer not known.

GGLB warLur b Qeiieudd Geremaareupmer g Apbss ?

(A)  gsras Hoeae ambamr Bardb BTG sHpd Gswdpep
(B) ae@gurag aalife Hmarale Gsrarauspsens eios agib e
(C) BanGw San@b o msEpsEes edenm arapriyb e

(D) Gm,f_f)assﬁm_- TEIe|b @eene
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Rote learning is a
G werurLb (weamarallfls SHHE) eTeTug)
!( Passive Learning
QewerHn SHOHE
(B) Active Learning
Qewdaeudl sHmed
(C) Both (A) and (B) are incorrect
(8) wppi> (B) @ram@io seup
(D) Both (A) and (B) are correct
(A) wpgid (B) @ranGid> o

15
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Which of the following characteristics of science is not true?
() It is guided by natural law
(i) Itis testable agamst the observable world

(i) It's conclusions are permanent
(iv) Itis falsifiable '

4) @), () and (iv) only (B) (1) and (iv) only

Owfijonly . (D) @only

(E) Answer not known

Sifeflwciieo ﬂdrmqpl.b usﬁrﬁsaﬂé) gl é.duraﬁmua‘)a)?-

() B Quims s aif pisLLOEDS

(i) Ga srarismgu e s5HHE THITS Gonfléabamiy g

(i) @sen ppyayser fiypsmorenera

(v) @& QuUMLILITESS Saig W |

4) @D, (i) wdgd (V) Ll Gd (B) (1) wpgd (iv) wL G
(© (1) wl@on (D) () wiEo

16
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The six one pillars of scientific temper is
<ipledlwed o enrieflar <um gransafld gemm
(A) Scientific Research

dlafluie) opmiss
(B) Scientific Action

<flefliue Qeweur®
(C) Scientific Movement

@ifleflwed Quéssh
(D)Acientiﬁc Attitude

Sifleflwe werliureTenLo
17

Open mindedness is a trait of
(A) Discovery

(B) Concept learning

(C) Scientific peréeption
M Scientific attitude

(E) Answer not known

SlDbS LOGTLILITGITENLD GTeaD LIGHTL
@) sen@Sis

B) s@sz sppd

(C) e=ifelwe Leersm &

(D) eflefwe wariurerento

ST ~ — ~ ~ .

18

G-

SYED youtube channel : https://youtube.com/@Syedexamguidance

Telegram channel : https://telegram.me/syedtnpsc

10


https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

'. Principles of scientific thinking are =
() Empiricism o |
‘() Rationalism
- (i) Skepticism
@) @only (B (i)only
(C) ()and@)only a((i),; (i) and (iii)
" (E) Answer not known o | B
- sflellwe Hpsamanler Qardranssar
(@) ~é|@|u@mrr§|_b. |
() uegsdajamsd
(111) spCssd - | oL
@ Guoes B (@)oo

© @oppoEwcee (D) @), () oppo i)
i ) ,
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The term ‘Scientific temper’ was used by

‘ofleflwd grésw erarn Qerdalaman LwaTuBSHweur

(A) Mahatma Gandhi in ‘Autobiography’

warELT sMhd ‘Fwsflas

{ Nehru in ‘Discovery of India’
Co ‘samLpips GbHur

(C) Kautilya in ‘Arthashastra’
Qaergdwir ‘SiTsgssmevdywn’

(D) Bipan Chandra in ‘History of Modern India’
G en spfri ‘Belien @bHw cuyery’

20

. Article 51A(h) has stated
sl 09fey 51A(h) augsmayiug

(A) to value and preserve the rich heritage of our composite culture
BOg SQULHEITEIT UGTUTL g6 eUaTonihg wrys dsdeausboms &g

LUTGISTSS D

{) to develop the scientific temper, humanism and the sprit of inquiry
and reform
sflefweriss eeriurbg, walls Cruwb, wubs Osafbg FrHmssid
9pieud < Slueuheny aueTidHe

(C) to defend the country and render national service when called upon

to do so
CaugmHrsmed Briigmend: sn5sd wHmib HriGuuef obHniso

(D) to uphold and protect the sovereignty, unity and integrity of India

%gﬁﬁu Briigen @emuiramenn, @hmiew, @mewluun® pdlueubeamp @hss
g @mtﬁ}&ar@ga)

1

21
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Dancing, Driving and Writing are examples of learning
domain.

prenb Hsd, Cumbms RLOSH LHNID TWEHSDH TETUM THE SHD® L
Hlenas @ THdgEsTH

(A) Mechanical learning domain (B) Cognitive learning domain
Qubdlrs sHPO L Sifleys sHpe yeod

(C) Affective learning domain 6 Psychomotor learning domain
2 6D &MihS SHHD Ljed Qeweur® &mihg SHHD L

22

Choose the correct order of studying scientific method
Siledlwed wanperwits Ly d@d sflwurer euflengerw Csirey QFLwLG D
1. Empirical Test

Sigiue Carganar

2. Hypothesis

&(mgCamer
3. Observation

seuetl iy
4. Conclusion

(Pig-eyeniy ; .
& 3214 B) 2,3,1,4
©) 1,23,4 D) 3,1,2,4
23
SYED youtube channel : https://youtube.com/@Syedexamguidance

Telegram channel : https://telegram.me/syedtnpsc

13


https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

Skills that are developed by learning science
sflelwenas spms Qarareugen epad Caréfll Qupssigw SHpersar

(A) communication skill and creativeness
Qamiryg Sper wHmId LenLLIUTHDHED
) creativeness and curiosity
UL LIUMHDEL WHIMID },TEULD
(C) writing skill and open mindedness
T(gIb e HHID HPHS WETULTETENLD

(D) open mindedness and communication skill
s wariumeaew wHpb AsTiTys Hper

24
is the ability to remember the material at a later time.
g @ Gurmener Weani flenaraler QameToug Bp@GLW.
A Retention (B) Questioning
558 MeUSHD Caeredl Gssl_Léd
(C) Reply (D) Answering
udoelgse e weflz6
25

Stepwise thinking with a purpose or goal in mind is defined as

2@ Crrésb Sowg QasELea vadd uglLKWLTss HBHssMe uMTUNIES
LweTUBHEgID Qamed

(A) Concept formation M{easoning
&(HSG 2 (HeUT&ESHD WIGTT T

(C) Intelligence (D) Creativity
micsTenT ey uenLLILUmHmned

26
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Arrange the following four steps based on Wallas Creativity Theory

aureen eremueufler psssdoen GCamiumgearig égga;asrr@um BT g SHenerm
suflensliLf&g 6.

: Incubation
o _GTeUETTES
2.  INlumination
o gr&lermafl Gg, IT6HT D) 6
3. Preparation
WSS
4.  Verification

sz
(AW 3,1,2,4 (B) 8.2 1,4
© 2,31,4 M) 2,1, 4,3

27

‘Thinking out of box’ is related to

(@) Logical Thinking

(i1) Creative Thinking

(1) Critical Thinking

(iv) Analyzing Ability

QUi é® QeualCGu fApsmar eraaier Asm_fyemL g ?
D) siss fd@arear bgaar

(i) veLuurbped Aisear

(1i1) eAwisar Apsmar

(iv) ueLumie) Sper

(A) (1) and (iii) only (BM (1) only
(1) whgd (1) we o (ii) i @b
(C) (iv) only (D) @), (i1) and (iii) only
(1v) e @b @), (i1) wppib (1il) wr Gib
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Active learning concept was first developed by
“Qawiand shned” smidaar apsald dlapsiinBssian

(A) Bonwell (B) Elson
CGuimenbla e GTED G &7
(C) Weltman (D)¥:Jean-Jacques Rousseau
Qeuadr” Groer sa— i @auc lyemslm
REFER
TAMIL

https://en-m-wikipedia-org.translate.goog/wiki/Active learning? x tr sl=en& x tr tl=ta& x tr hl

=en&_x_tr_pto=wapp
ENGLISH

https://en.wikipedia.org/wiki/Active_learning
29

. Which one of the following is the most effective method to develop
conceptual learning in student?

EC Qarpissuur L Hlé gl smsss sppe pepeaw Cobu@Bss 2 s dng ?
(A) Understood on their own
swwns yipg Gamerer euelymissd

(B) Memorize the concept
smGng warium b Qelw Gerdgigd
Reasoning by comparison
RUUAL D STTERTRISMETS SaniFe

(D) Punishment until acquiring the concept .
S(HSMS @LULD GUENT] SERTLGHET GLLMHIEHS 60

/TN A ammrvr a2 nd Iram aver -
30
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Identify the characteristic which is not associated with scientific
attitude?

cll@gpEpran eEmEHWPMDLLET QFTLTHUBSSUILLTS LIGTL DL WINETLD &Ieas

(A)
(B)

©)

05

31

critical observation

cllwirger 2 HnCrrésd

open mindedness

Snbs erlILTeTentn

free from superstition

epL BilsEmasulalmbg o HUL I HSSH
biased

USSESTTLIMET

How do you develop “Scientific Temper” among students?

wrarmeurseiian LG edleflwidh weariiLmsa el ereueITn eUaTTiLIg ?

@

(1)

(111)
(iv)
(A)

(©)

Give extra coaching to the students
LDTanTeUTH(EhHGS smBhige LblpHwualgse

Encourage them to ask questions and allow them to seek out
answer on their own
wrameuitsemear  Gadrelsdr GCaslsaud =ighEl uddlaar  sar_Hlualbd

a1 d; (56l & % e

Motivate to apply the methods of Science in day to day life
Siempre eurpedley oleflwed papseneTi LweTUBHES oard@elsse

Provide well prepared science study materials to them
SieUiTSEhEE beng swrildstul L @dleflud ur ) Qurmeailaar kgD

(1) only (B)‘(/ii) and (iii) only

(1) b {Hb (11) whmid (111) wiHib

(1), (i1) and (i11) only (D) (), (ii), (iii) and (iv) only

(1), (A1) wHmb (111) L b (1), (11), (i1i) wpmbd (V) L ED

B.Nature of Universe - General Scientific Laws — Mechanics - Properties of Matter, Force,
Motion and Energy - LNJLIEH&SS6tT @uieDL]| - QLITE| SIMTLIEL NS)GH6T -
QuissaNuleL - QUITHET, F&H8), QUISSHLD LMHMID SLMHMEL LIGHITL|S6NT

1
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Which star is nearest to the earth next to the sun?
(A) Andromoda

Alpha centuri
(C) Sirius
(D) Cygni

(E) Answer not known

Glugse DssTHCLTE Lellds <imaiere eflamBer erg?
(A) e CyrGomm
(B) <péurQeecs@
(C) Aflwewd
(D) eafl
2
. If ‘g’ is absent in the Universe, which of the following statement is True?
ST sH Leflrriy phHss @ometualids Spsar_aupndr ag #flurang ?
(A) It leads to the sensation of weightlessness
eTenL_uleimenio ereitp o eaTiieney GHUBSSID
(B) It leads to complete destruction
OBl e (héEGMmaael eHLIESSHID
(C) We have day and night
@rey L& eTeTLIRT BHTD LIMTESQLD

(D)\/goth (A) and (B) are correct
(A) wppiw (B) @ran@n &
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Natural Satellite of Earth is
(A) Andromeda -
(Bwo.on - -
(C) Sputnik | |
(D) Milkyway

(E) AﬁsWer hd_t known

Hedludler @uinenaiwime gsmamréGasrreiT
A) semCmiir
(B) foa

©) ducels

D)  ureQeued eff
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Which was the last book written by Stephen Hawking?
Wemeumeuareuhiled ebielich ammad i TS s S USEED )7
(A) The Grand Design
8 dlyrawr g engen
(B)\/ﬁrief answers to Big Questions
QI peeren § 96 Qarasere
(C) A Brief History of time
er G aflav M =y epib
(D) George and the Big Bang
g e £ 9% Cun
5

3, In the Southern Hemisphere the milkyway appears much

Qsp@ sersGsragda aod Geu (milkyway) @eueurm Ggeru@ib?

(A) darker Kbrighter
G maTL_sns GrsreLTaEns
(C) larger (D) smaller
Quilwgns Splwusns

6
Who proposed the geocentric model of the universe?

(A) Tycho Brahe (B) Nicolaus Copernicus
Ptolemy (D) Archimedes
(E) Answer not known |

si@r_gdar yelleww wrdfs Gsrarensemw @pe&ern@ngmrr Wi ?
A) a_sCsm iﬂun(’ém - (B) fGsrawev Caruiflssen

(O sral (D) 68860
7
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Which telescope captured 4 magnetic field image around a black hole in
M87 galaxy?

ahg QsreaaCprsd M8T eflember wear _wsdd o dmer smhg@armus sHlujerer
SMHSL Haosms UL DIy 558 ?

(A) Hubble telescope KEvent horizon telescope
anuder AgrenewCrméd Hapey igeunar QsreeGprad
(C) Magellan telescope (D) Thirty-meter telescope
r@sceer AsrenaCHss puug-BrLi QgreaeGprsd
SUN
8

200. “Life on earth is solar powered”. This statement is true because
(A) Most of the countries in the world are harnessing solar power
(B) Solar power gradually replaces all other energy sources
(C) Plants produce energy by photosynthesis using solar lights
(D) Solar rays remove the harmful pathogens of the earth
(E) Answer not known
Ygllfe 2 fsaller eumpsamsurarg Glw s&Hwurd Quiadang” . Qbes sabm
lemau(pLd 6ThE STTENISSTE 2 EIeNLDLINSng) ?

(A) sade !LG?TG;T QupbLrerer prhser @&l gaflilamar farery swnfindpans
Uweruh &gl crmer

B) Gfiw WBearempd  whepw  afldummpasmer Gargpsd  CarEFons
omH Hl&Cls masriq.(m&d eirm er

sreurhser Gilw gaflulddar apab gallEFCarsas Cawdlearnar
D) efwu sdisd yblbe o drer Crmu ugliyb Smdlsmer BéEsamer
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Sun gives light and heat energy due to one of the ‘followi.ng reactions
(A) Fission of Uréniurﬁ _

(B Fusion of hydrogen and its isotopes

(O) Fusion of cérbon nitrogen

(D) Disintegration of Plutomum

(E) Answernotknown ‘

_£rape5e5n'@m Grpg @@ eﬁlmmu&lar STFERTONE @',rﬂu.tm @aﬂa}u.lu.[m Gmuugmgum
EGADS? ‘

(A) u.|G;raqu.|Ln él@]%@ |§Iareq

(B) wﬂo_l'_ugén_ LHOID ST g@srr(éun?:qé;&aﬂé‘r SDUSIES(H Qmémﬂq

©) srituer, eplrger a@ﬂmaﬁﬂu - |

D) yeEs CLrafub Hegeaymsaord
10

Which gas 1s maximum available in Sun?

GMweafled erhg eumyy flswrs 2 crerg) ?

!ﬁr Hydrogen (B) Oxygen
QD L_[FE6H <5816t
(C) Helium (D) Nitrogen
aneSlwitb MBL_TEg6H
11
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. Super nova is a massive explosion of

GuUuT Grreur eraTug) 6(m CQuflu Qeugtiy =y Eb.
(A) An asteroid {A dying star
Am Camarsatien @n&@GWw pLesHisdlen
(C) A black hole (D) A comet
& (M bg) el et QU BLFSHTSS 6
12

». Rapid collapsing of massive stars are generating very high heat then the

wident explosion is called

e flswrar plesdrmadr lageouns CuorgwGurg <ifls Qeiiugeasub,

Qulu Geug LU 2 (HUTEGHEIME —————— GTET DM PEELD.
(A) White Dwarf (B) Photon diffusion
Qeudrener 1g.eumi Cum_meér ureue
(C) Steller evolution ) Supernova explosion
L@ et uflarTmo @&UUTCHIeur Qeuniu
13
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Find text or tools 'Q B <f

Which of the following is incorrect?
Sb&sramusuHmET FeuDTaT Fby T ?
As rain drop descends towards earth
wawpsget Ylleow Crrédl efipn Gurg
(1) Upward air drag forces increases
CuaCrrsdu sthp @ welilassdr oflallagh
(2) It comes with zero acceleration
Ul pHESESILET GU(HD
(3) It comes with zero net force
Cwrss ellensudler wHlL siblujLar aumd
(4) It comes with zero terminal velocity
@oo SosCassdlar vy sifl e

(A)V(4) only (B) (1) and (2)
(4) b G (1) wppi> (2)
(©) (3)only (D) (3) and (4)
(3) e @b (3) whpmib (4)
14
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1. The energy produced at a cheaper cost 1s

(A)

Wind energy

v, 2 Hydro electric energy

©

Nuclear energy

(D) Solar energy

(E)

@mmgbg, Qsaaild &@QJI'I'SSLI u@l.n c%gpgpeo

(A)
B
(©)
D)

TN

GAS
15

&fluppa

Answer not known

ETHD 2HHDE
pinflen pppd
DADEEB BHPWD

Fa B

BGLD.

The instrument used to measure the atmospheric ozone concentration is

(AW Dobsonmeter

(B) Barometer

© Hygrometer

(D) - Anemometer
(E)_ Answer not knowﬁ :

auafloar g o drer @Cstar SiLigHeu SiameiL 2 LCWAsED smel

(A) GumuGsman B

(B) uGypm Bl

(C)  eoansCom 8Lt

(D) =afiGur B i

16
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. Ozone layer concentrates mainly above 10 to 15 km from the earth’s
surface. This layer is known as

@Genen BR&E psdwwna LOufer Copurinie @mba 10 apsd 15 £.85.5¢
Guwe Gellbglcrerg. Diger OLwIm ereme ?

(A) Troposphere (Bm:atosphere
CCrrGumevi9uir evGrr_GLmeviGurr
(C) Mesosphere (D) Ionosphere
BCemav Quirr SwiBarmevtQuwiir
17

. Which gas in the atmosphere saves us from the ultraviolet rays of the
sun?
cuafl wam_ewsdd @Ghwualear ypeasrssdiad @mHg B ST&EGD eumuy 6rg) ?

(A) Oxygen ) Ozone
2 Saedlgen Camer
(C) Nitrogen (D) Carbon monoxide
enfL_Iregehr smiuen Gurearréanen ([
18

The gas which turns lime water milky is
sefremrmiby Benyiy umed Guimed wrHmIbd eumy]

(A) Nitrogen (B) Water vapour
&0 [BL_IT e &bt Bymel

(v Carbon di oxide (D) Oxyper
HTTLIGH - 60~ 2, &6 (b <24, & | eneiT

19

The atmosphere is divided into four layers. Of which the layer in contact
with the surface of the earth 1s called

aefloar b prag ihsGsamsl  GRssuul@erarg. eupdled yallufler
CuhHuriigrer GAsriiyerw Hé@E g ?

(A) Stratosphere ) Trophosphere
evl_Crr_GLmeviSlwir L CrrGumeviGlu
(C) Mesosphere (D) Ionosphere
WBCamevQuirr < wCarmev Qi
20
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- When will be rainfall called cloudburst?
aiCung wenpwinang “‘Grei Qun wan” erarneP&aILEHeTDg ?
() Level of rainfall is equal or greater than 100 mm
wenpuilen emeurang 100 OIS Siwog isH@ Coars @mbsTad
(B) Level of rainfall is lower than 20 mm
wenpuilen sjereunang 20 WB&EE Gmmeurs @) HHSTD
(C) Level of rainfall is between 20-50 mm
wenpullen ateurangy 20 g 50 WIS e Cw @HHSTD
(D) Level of rainfall is between 50-70 mm

wenpullen ateureng 50 WIS s 70 WIS cueny @EHHSTED
21
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Match the following :

Qurmsgs :
List I

auflena 1

(a) Hydrosphere
it weTLeib
(b) Lithosphere

Hleo weir_evib

‘(c) Biosphere
o U4l wekTL_evib

(d) Ionosphere

Sjwef T

List 11
auflens I

Lies above 50 km which coincides
with the thermosphere

@ Qeuiu T 0SSN
50 £..5-CGwé iz EreTg).

Earth's crust and a lower portion
of the mantle

yeiluflerr CuCear® whmib Spriud
Earth’s water which exists inr both
fresh and saline form

yeluQlerr Bir, mewati wHmb o Ly Byrs
2_dTang

Lithosphere, hydrosphere and
atmosphere in which living
organism live

Biwar_ew, Hlewar e whmntb
auafloer_gdler o ulflens somser

@ b @© @
o o @ o
@ 1 6 @ @
©c @ O & @
M @ @@ @O G
MOTION
22
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Mosquitoes breed on the surface of fresh water because of
(A) Viscosity
W Surface tension
(C) Cohesive force
(D) Adhesive force
(E) Answer not known

Qs perafiler Cupuyi9e @ar AuBsss®s THURSS P4 eus CTSETTED
Q) urdwe Neswime

B vy @uelemeswimd

C) omrdeany Qamswrd

D) @@ Aevswne -

23

. It is difficult to walk on ice bar because
(A) Pressure is high (B) Friction is high
(C) Pressure is low M Friction is low
(E) Answer not known |
g6 slquiear Bg pLLiLg frwwns @ mésEh gblarafld
(A)  <issb Afswrs GHEED (B) egmue) widswrs @mé@wh
©) <yssw Gopars @usew (D) egmiey gopens @nré@d

24
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The path of a particle projected into air with a given velocity in a
particular direction is a

(A) Straight line (B) Ellipse
(C) Hyperbola M Parabola

(E) Answer not known

@06 GHUALL Hoso, CQarRssiul L HamsGaussded QeaubsiiulL ssdr
urenguiler Qaegid.

A) CriGsmp | (B) Bereuc b
©) wsureimenwid (D) ureuewerwid
25

|l. Terminal velocity is related to

W Viscosity

Surface tension
(C) Circular motion
(D) Linear motion
(E) Answer not known

wpm HensGeusid eranLig) Spsem arGer( CgTLTLenLILIg?
(A) urdweé s

(1 v iy ees
(C) alLuurmg Quissd

D) CpiCsm_( QuEsid
26
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The'vehic_les are fitted with shock absbrbers, which is based on

(A) Newton’s gravitational law

(B) Newton’s first law

(C)_. Newton’s third law
Impulse

(E) Answer not known

Gorl L eursearmisafid a@nsq grrrmeﬂa;ar Glurr@,s,suu(amgj &;p&&mn_ Grggul_asr
QariyenLwig _

A) At afar miGue )

(B) Awlaflarpsd el

O Pyt Laflerpempreug ofif
‘(D). sawmssrée

27

. The SI unit for energy 1s

SI eieE wpermeoufer Lig. <, Hmedler o6 @ eTeme?

(A) Nm™ (B) Nsm™

\yﬂ Nm (D) Ns™'m™
28
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The force of ‘attraction between two charges at dlstance ‘d is ‘F’. What
distance apart should these charges be kept in the same med1um S0 that.
the force becomes 16F? : -

R
.._(A)_.. 5 | - o _. (B)_-Z
© 2 R A
U P

(E) Answer not known

@Ua‘a(b\ Lﬂa@)m_l_rﬂmaﬂm @am_uuu_ @l_uGuu_m‘#él d’ Y @m@mGur@

sgauisd eng ‘I 25 9_6113&1@1 sais efles 16F’ <& LD, @L_uGuu.trr&eﬂ
arénar ? | -

d )
A) = - B =
@ < - ® g
l.. . d - -. .-.d .
© % Lo
29
. Newton metre (Nm) is the S.I unit of
(A)\Moment of couple

(B) Acceleration

(C) Velocity

(D) Force

(E) Answer not known

B Lm i it (Nm) areinp 8.1 swieos Sipissain_appier eraupPpes ALIneb?
&) @r e dooysBpe | |
B) wossd
©) SeasGeusd
D) cos
30
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More number of wheels are provided for a heavy goods carrier in order to
decrease the ————, thereby increasing the area -of contact on the
road. | | - |

- (A)\/ﬁ'e_ssure'

(B) Velocity
(C) Density .
(D) All the above
(E) Answer not known
GPDESeD, FTmeuLeamear QsrH uuL'Jém_l <& flésey, 85@!;]’85 FTEE,
ungahseT Sifls cranenfléamaulioner sasrmsamens Q& rem (D eaTare.
&) swsssos
(B) HosCaissms
(©€)  oLigHeou
(D) Gupsar. smarggin
31
Which of the following statement is true? Newton’s law of Gravitation is
Spsam_cupmiet arg sflwner sappr@w. Hlul Leafler mitiy eldwreng
(A) the force of attraction between the sun and earth
GNlugis@b yls@h @ Cuudrer mity elamsmw GNssng
(B) the force of attraction between the moon and earth
YIS HlaasEn @eaL Cuujerer miuy elmsmw GHsfng
(C) not the attraction of an electron in the orbit and the nucleus
TLESLTT@USSD DHeMESMHeUsEGL Qe Cuiwyeter miuy ellengenw @DHsaTg
(() Both (A) and (B) are true
(A) vomiw (B) @ren@w sflwreang

£TDIN A oY ______

32
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Which of the following is related to Newton’s first law?
Spsamcupmiet erg Bl Lafler s NHCWThH QgriyamLwg)

(A) Energy (B) Work done

<2 HMHED Qewwul L Geusnev
(C) Momentum ) Inertia

2 HGW flamevold
33

. The relation between gravitational constant ‘G’ and acceleration due to
gravity ‘g’ 1s

mioy wrfed ‘G wpmb yel miuy wEssh ‘g e dwuapdpdar Guuyerer
Qamriry

) GM = gR’ (B) GM = gR
(C) GM =¢g'R (D) G = gR?

34
Kepler’s law of Area 1s a statement of the law of conservation of
Qsueriler uguy eSHwineang 2flefemeno eNFluflem Ly epwSDG).
(A) Energy Angular momentum

2% HMED Carert 2 B
(C) Momentum (D) All the above

2 HSLD ChaaEm. meansgn
35
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When a ball is projected upwards there is an increase in its
1. Potential Energy |
2.  Momentum
3. Kinetic Energy |
(AM*T only ~ (B) 1and 2only
(C) 2only (D) 2 and 3 only
(E) Answer not known

upeng CGuwCe ealywGurg _a@ CuGe Gseodpg. SUQunupg  ubSle
- Spasarsupmier vy siflsfsdng? - '

1.  fHeownhped (&) srgHuorer Hpe .

2. =2psbD '

3. . Quss %gjj;nsb | _ |

(A) 1w @ ‘  (B) 1 wpmd 2wl

(C) 2w @b . (D) 2 vomd 3 W@
36
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. Viscosity 1s a transport phenomenon in which
LUN@GSsementd erenug 6 QuwTES Blaspa|, @
(A) Mass alone 1s transported

Hlenp LWL (Hb @LbCuwidpg
(B) Energy alone is transported
<HMed LLHL @Lbuwirdlpg
(C) Mass and energy are transported
Aopuybd, YHoaib QL bEuwidpg)
) Momentum is transported
2 s @QLwduwrdpg

37

70. Which of this is not an unit for viscous force?
( Newton (B) Poise
(C) Kgm-1ls-! (D) Nsm-2
(E) Answer not known
@eupmer erg urGew Nesullen i@ Herwng) ?
A) Py (B) umiev
(C) Kgm-!lsgs1 (D) Nsm-2

38
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. When a force ‘F’ acts on a body for a period of time ‘¢, then the product of

force and time is known as

(A) Inertia (B) Moment of a force
M Impulse (D) Linear momentum
(E) Answer not known

‘F’ arenp ellens ‘L’ eretip smew Serelledr @ Qummeiar g QewdulLmed ghuBL
wHuy, dens LHQL ST Jerallar AUHBSESHUDEISS FWWLWTE QEHESWL. Qsmen
GTEHTLIT.

(A) Herawwid (B) o pg s
©) semgsnss (D) Coplwe 2 s

39

Honey is separated from bees wax with help of
Coemar oiger Hwpdledmpg WNss LwuaTLfeug)

(A?/Centrifuge (B) Centripetal
@wweiwsd awwCprés
(C) Polarizer (D) Analyzer
sarallanara in&sf : R INIRL
40
. Which one of the following has the highest density?
&) Air &7 Water
(C) Kerosene (D) Wood

41

(E) Answer not known

Sparamueupmier sl Qun@meliar DILisS WGHwuTang ?
Q) smpm (B) &

(C) wverQemarQarti (D) wrwo
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.. Escape velocity is
(A) Constant for all planets
G{ Varies planet to planet
(C) Smaller in inner planets than outer planets
(D) Itis applicable only in earth
(E) Answer not known
AHu®p HmsCauswrang
(A) smasg CsrarsEns@n LIDTSS)
(B) GCamens@ Camar wmmu@in
(C) oiyp Carersefd Qauafiiiyp Canersanar oL G@may
(D) yes@E L b QuEmHSIL
42

Which of the following is a conservative force?
(A) Electrostatic force
(B) Gravitational force

(C) Frictional force

\@r Both (A) and (B) are correct

o o AN 'y - -
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Spssamaupmer g wIpT dlens?
A) feoe Haalud alams

(B) mrudwé eflens

(C) <opmiey elens

D) (&) wppd> (B) @ram@u> &

43

How the Thanjavur doll is performing a dance like continuous moving
without fall?

iUy sErsreyt Qumbern ECp  eflpmod GgrLisduns  uds Qsrar(
Q®s8pg 2

(A) Centre of mass (B) Centre of acceleration
flevm enowid WPH&ES enowid
) Centre of gravity (D) None of these
FFTLIL ePLOWILD @euniier gglidvena
44
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L. All liquid drops assume spherical shapes, on account of

craer drausgefls@pd Carar eugamey JH@LwuGH(EGS SMTERTD

(A) Elasticity {Surface tension
WSerdlmenr | uguy @ueieams
(C) Viscosity (D) Gravitation
un@, Hlene yell Friry
45

7. The rate of change of velocity is

HansCGeussflen wIHUIEH IS 2, GLD.
(A) Speed I{Acceleration
Geusld WH&SD
(C) Momentum (D) Displacement
2 HgLd @LuCuwirss
45

Kepler’s second law of planetary motion is also known as

Camarsafler Qussd upPlu Csuerflar Eremimd el ——  qrarayd
SHluriu@ib.
(A) law of unequal velocity (B) law of equal momentum
Fw&Synn HasCais el g0 2 5 6
(C)Vfaw of equal area (D) law of inertia
#0 UL 694 Hlanewn &l
46
SYED youtube channel : htps://youtube.com/@Syedexamguidance

Telegram channel : https://telegram.me/syedtnpsc

40


https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

. The Inertia of a body depends on

e Qumrmefler Flevawd FMibg @) (HEGLD.
(A) Shape of the body
Qumgpetles eulgeudbangF
(B) Velocity of the body
Qumrmeflen HeansCGoussamss
(C) Momentum of the body
Qumrmeflen 2 hssmss

‘6 Mass of the body
Qumrmeflern Flenpenwi&

FE o 1Y

47
. Calculate the velocity of a moving body of mass 5 kg whose linear
momentum is 2.5 kg ms-1.

(A) 0.2 ms!

(B) 0.7 ms! 4
@ 0.5 ms -

(D) 1.2 ms-!

(E) Answer not known

5 £.8 Hepyerer Qurm@ernardlenr CrisGsm @ epsn 2.5 £.48 Bl aafle,
<igen Haws Caussamg sasdl(Hs.

(A) 0.2 Sed™

(B) 0.7 Sed™

(C) 0.5 8e8™

D) 1.2 8™
48
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. The relation between weight and gravitational mass is
aeL&GL Fiulwe Hleapssd Ge Cuujdrer Qgmiy

«fw=mg (B) m=

€ m==L (D) w

w

2

g

w |8

49
Repetitive to and fro motion of an object at regular interval of time about
a point is | "
(A) Linear motion (B) Circular motion
@, Oscillatory motion (D) Random motion
(E) Answer not known

8@ Uereflaow @wwworss Qstar® wapwurer ste Gl Qaefulo e (Hiib
San®w wpergud Gergions QukiEh Qurmeler Gubsid TEITLIG).

(A)  Cprrer @uiésid (B) e Qusso

©O) <was Qussp D) auusdp Qussd
50

SYED youtube channel : htps://youtube.com/@Syedexamguidance

Telegram channel : https://telegram.me/syedtnpsc

42


https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

Assertion [A] : In the case of a sphere floating in a liquid, a tilt one
way or other does not change the shape of the
displaced liquid and said to be in neutral equilibrium.

smhm [A] : dAreugdlan Sy  Hssend  Caregdleser  egdlansulia
Flapdlenmgud mgame QaueiGuppiu@in Srausflen augenb
wrprodlEEEn Guaih g shflne sufloautid FHmesh.

Reason [R] : Meta centre (M) coincides with centre of gravity (G)
all the time and it continues to float in all positions.

amrenmd [R] : eraCGunggs @en.  emowid (M)  midy  enwowih (G)
Esushirarriin qandler s qerm Qummsd @mousTea adear
Hlanosaflan Gerits Blabs Qs mash,
(A) [A] is true but [R] is false
[A] s eyewrar [R] seum
(B)\/ﬁoth [A] and [R] are true, and [R] is the correct explanation of [A]

[A] wpmpis [R] @renEun #f; womgn [R]  swudmy [A]-di aflwsman

GElaTE ST LD

(C) [A] is false, [R] true
[A] seum [R] s

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

[A] wimd [R] ranfio #f; e [R] spm [A] $5 sflurar ailarssn
e @

C.Everyday application of the Basic Principles of Mechanics, Electricity and Magnetism, Light,
Sound, Heat, Nuclear Physics, Laser, Electronics and Communications. @UWI&&aIUIeV,
LOGSTEMILD LMHMILD SHMHGeTI6, 26, 62601, ClauLILID, SigD @uIMLTeL, Gevar,
LOlsoT6sTEImITILIEL LOMMILD §&HEULOSHTL L] Y HiieumMI6sT Siiq LILIEHL &
CamLum(y&efest SesTmmL LiulesrUm(®.

Heat GQleuLiuLh
1
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151. The Refrigerator and ice plant working under the principle of
(A) . First Law of Thermodynamics
M Second Law of Thermodynamics
(C) Third Law of Thermodynamics
(D) Zeroth Law of Thermodynamics
(E) Answer not known
&eflt srsaQuily wHpid ulss g Csmflessdd Qeueu@n ssgewTag
A) Geuuu Qusselwllen wse 695
(B) Qauiu Qusselwder @ramb e9f
(C) Qe Guissaluieler aparpmib 6l
(D) Qe Qussefweier Lshw 6Hld
2
The minir-num'.possible femper_ature _beyond: which inatter .ca_nnot'.lﬁe
cooled is o ' | :
@ -100C . ®oec
©Ylrrc (@ -500C
(E) Answer not known | | -
R IQ'urr({'ga)-m em GHGrL Gmau;ﬁéﬁ)ai&@ &p @éﬂr‘ra‘ilésls_s DS Plg LI,
S QauiiLiflena o | S T S

@ -w0c - (® 0C

(C) —273°C . (D) -500°C
31.,\ - - . _ o
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Which one of the following is the SI unit of temperature?
(A) Celsius ‘ | L |
(B)Vﬁa'lvin

(C) Fahrenheit

(D) All the above

(E) -Answer not known

&f@éﬁ&q@m soEsao Qauiufaedan S.I swe .GTQ;?
(A)’ Qsflwen | |
B) Gsodar
(€) sumpenabl
(D) Guopsmfiu swarbgd
4
). Let the boiling temperature of water in a pressure cooker be 7'. Then
©ipdss sewliurafla Slar QsrdBlae Geutiuflow T eds. <inGurg,
A) T=80"C
(B) T=90"C
(Cy T=100°C

P T>100°C
5
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" Assertion : A refrigerator transfers heat from lower temperature to
higher temperature
Se. ) D g Eelistser  Qulyg, @epaurar Gailiublaauilalmbg
<@g uwrar Qe Hevass Qauliugmg s_558 Dg!.

Reason : Normally heat cannot be transferred from lower
temperature to higher temperature without doing any
external work.

STITEnTLD © aBs @G Up Ceumewb Qelwmod sreTeRILns Geuliuib
Gonhs Qalubloauldipbg ofs Cealufowss & 5%
Pl

(A) Both Assertion and reason are true and reason 1is the correct
explanation of assertion
sapm &M sryaord &, sryennd spilbaren sl alleTésd

)B Both assertion and reason are true but the reason is not the correct

explanation of the assertion
sahm LoHOLD HrFETD &l et SMrewd saplparen eflurer afleTss e

(C) Assertion is true but the reason is false
g & @I ST IEsT D HEUN)

(D) Assertion is false but the reason is true

Sapy SN HEGTTED STTRTLD Fifl

The Metal/Metals which excel in the conduction of heat and electricity.

_(A) Copper ax_1d Tungstep MOpper and Silver
(C) Silver and Tungsten (D) Copper alone

(E) Answer not known

Qeuliugeswid, Lﬁlsbrsnrfgm,sym aaflflér sLggib 2 Cansn/2 Canshsdr

(A) smlmbd wHMID LkevLer (B) smflyb wppd Qeusref
(C) Qoueref wHYID LrievLar - (D) smgd wEEW

7
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Food cooks faster in a pressure cooker than in an ordinary pot with a
loose lid because the higher pressure

serelTar apiguen Wl emgmal uremeudd o el smwblumg L (WSSF
seownseaier ellereurs samwssiLBEng gdaaic s oi(pssD
(A) forces heat into the food more rapidly
2_awredlen Bg) DeuliLifens ellengeunssd CleqsgiD
(B) lowers the boiling point of water
piflen QardlBlavavanuids Gama@D
%C-) Raises the boiling point of water
biflern QardHlanavani 2515 il& @0
(D) Increases the specific heat capacity of water

Bifles gev Gleuli FghysSHneer S sfé @0

. Which of the following molecule(s) causes food to cook in a microwave
oven?

Gemeumd eposspseia ag meramae <iGUdde (microwave oven) o emeeu
EDDESE STTATOTEDS] 2

(&) CO: - (B) OCS
& H:0 (D) NH;

9
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. An electric heater of resistance 5 Q is connected to an electric source. If a
current of 6 A flows through the heater, then find the amount of heat
produced in 5 minutes.

(A) 90004dJ

(B) 25000d
« 540007
(D) 84000 J
(E) Answer not known

5 Q Berger QaranL e &CLpM @ Wer apasg e @amarssiuGang. 6 A
WenGarm_Lorengy Qps &HOLpdl euflwrs umnflpgy eafl® 5 Hulllmseie
2 (paungd Qeuliugdler eTancu Snams.

(A) 90004J

(B) 25000 J

(C) 540004J

(D) 840004d
10

The contraction of volume when ice melts can be attributed to
UaT&s 1 2 (mGLCUTg SisaamL L(BLOET (Genneusnamen snjanrid
(A)V Partial collapse of tetrahedral structure

Leilés’ i uller prenapdl Lnas s L embliy UGS GHVUSTSD
(B) Formation of Hydrogen bond

el rgmen 1GanaTiiL| 2 (Heumeusred
(C) Water starts to vapourise

B spefluinss Qsmrigeausnd
(D) None of the above

Berer ggildea

11
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12

Heat transfer in a transparent solid is by
gafl ewfimey b SLoG@urnrlsafis Gautiu uflwrpnin
(i) Conduction
Gaidiuss. Ss6 ppeth
(i1} Convection

Cleuliug sewand ppead

(111) Radiation

sélielés apad
(A) (i), (i) and (jii) (B) (i) and (i) only
(1), (i1) wopmb (iii) (i) whmib (ii) wi b
(C) (u)only - ’ M and (iii) only
(1i1) wi @b (1) whpd (1il) wi GHo

In winter, why do birds sit with their wings spread out?

GefliTsnomigaild, ger upeeuser saig Spas alflsss Qaranh iwidpg ?
@ To enclose a lot of air

3$s srhep 2 ereTL &5

(B) to receive heat energy from sun

@&Nweallmhg Geutiu g hoene Qup

(C) To make balance in winter

Gafltarasms sohlaa Qg

(D) None of the above

@eupdler ggiLidrenaw

Nuclear Physics

13
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. The rays markedly increasing Shelf-life of fresh fruits are
(A) Xrays '
W Gamma rays
(C) Beta rays
(D) Alpha rays
(E) Answer not known

vpisaidr Qe Qmm.ﬁ; stogmnss (GHUALSsss erele  flaflss:
sélisermaTeney ‘

A) X sdisdr

(B) smwor sfliser

(C) Siur sfiser

(D) <=our sfiser
14

Indian Nuclear Power Programme stage-3 aims using as
‘fuel of the future’.

(A) Radium

(B) Polonium
yThorium

(D) Actinium

(E) Answer not known
AhSL SemiGETH BHDD HLID - Uig-56 ——— erlisre erflQumpenmaLs
pwaru®$s SIS HeTerg).
(A) Grgwd

(B) GurGaraflwd

(C) GCarfluwb

D) <pégafun

15
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The device used to perform chain reaction of nuclear fission in a
controlled manner is

M Nuclear reactor

(B) Atom bomb

(C) Electric furnace

(D) Chemical furnace

(E) Answer not known

D@ &H& (L ﬂmmmu&]m Qariir ellemarenws s EUUTLHL6T g 2 sajb FTFEILD
GLD.

(A) <oiamssm 2o

(B) <simmEan®
(C) der oLy
(D) Ceudaleman iBHLIL

16
The radiation with highest energy 1s

W X-ray | B) UV-ray
(C) IR-ray (D) Visible light

(E) Answer not known

2158 < HDeIL6n efleThiEGLd sliaiss 24,@GLD.
(A) er&ev sHT (B) yp cargns s

(C) issflaiy s (D) sawanim el
17
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Which of the following material is used to make control rods in a nuclear

reactor? ;
(4 Sodium ' Cadmium
(C) Potassium (D) Iron

(E) Answer not known |
Iﬁ]@TG}J'({Iij gaflotsaed, @m Jemssn soould SLEUUILERS sar@ase

QeiwiLwen ezl ora?

(A 'G&rrlq_u_ub (B) ST Sl
(O Qumiirdlub D) @mwy
18

is used to find age estimation in the archaeology.

A C® A Ca
o (D) Na’

E) Answer not known
Asraaued gerpuild AurmLseiidr oLuimer SarsdL. -—-—-—— pwerLGEDE.

A) _ COGO ‘ ' - (B) Cl4

C) _ 1131_ (D) _Na24

19
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Atom bomb used in Nagasaki incident
B&snd sigmiGeanh eisfled vwauBsSu gGHTH

(A) Little Boy 6 Fat Man
edlLigev Limds GuL Guenr
(C) Phoenix (D) Little Girl
Saflsaiv S ige Cirer
20

Metals*wﬂ:h hlgh atomic numbers are used as targets for the productmn
of X-rays. Why? _
(A) They will not be broken durmg the process

(C ey will give more energetic and intense X-rays

(D) They will not melt by the increase in temperature

(E) Answer not known -

X-sfisen 2 eunEEsSd, 2 Wi g ereir Glsraim.. o Consmiser @w&@ Gu:r@arrrsu
vweruBSsuLpSemper. ar? -

(A) GQsweyeplar Gurg e eLwmod @@5.5 _

B) QGsrips crasrren Hré@sIQID Galibs Qmés

C) s wHppé amips, Asde) 1858 X-sfismer 2 meunss

(D) Galufee sfsfiuurd o marod Gmés ‘
21
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Match the following :

Radio — Isotope
(8) Radio Sodium-Na*
(b) Radio Iodine-I'3!
(¢) Radio-Iron-Fe®

(d) Radio Phosphorous- P32

> W o

@ ® @© @
3

W 4 2

1
(B) 1 2 3 4
(€) 4 3 2 1
(D) 4 2 3 1

(E) Answer not known
1éieu (Heu aTeu H @ m G]urr@;‘r,gm.

s8ALES LCerGLILsET
(a) sdMusss Cemquib-24, (Na??) 1.
b) sHAwss =CGumgar-131, (I'31) 2.
© shfluss @aoy-59, (Fe®) 3.
d) sffwsst urevugen-32, (P32) 4.

@ ® @© @

A3 4 2 1
B) 1 g 3 4
T4 3 2 1
D4 2 3 1

54

Treatment -
Skin diseases
Diagnose anaemia
Effective functioning of hear

Cure goiter

fflsans
Garer Cpmis Hflsens
755CETeS DI ITATLD HTemT
Qsusamg Fyna G]&u_tdju@g,g

(penr 5@‘5@59@)@
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Gray 1s the unit of
Epsasamsupmier, “ACy” eTemug THET B0 ?
(A) Range of a-particles
o -gisansaflen eiFa
@Y Radiation dosage
asHieiFSlen ojemey
(C) Number of disintegrations
Slengeysaflen craranftl&ans

(D) Half life of a substance
@@ Qummeflenr ey 6T
23
MAGNET

. In Magnetic Resonance Imaging (MRI),

produce strong magnetic field.

wire 1s used to

STHHILOSMS

ahs  @ssiey QGbuwrssdle  (MRI), adewwrer
2 (HeUNE @GSN, cufldamer LweaTuBSSLLREDS.
(A) Conducting (B) Insulating
&L SgID &SI
6 Super conducting (D) Semi conducting
LBG’;&SI_;SQJLD GOD SLSFID
24 B | _
The Converse of magnetostriction effect is
gnpselwed edflenareilen LAHH ——— G
(A) Thomson effect 6; Villari effect
Smbaen ellenerey el efleneray
(C) Curie effect (D) Bitter Powder effect
sw.fl elleneray Qi Qumg eSleneray
25
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Which one of the following device is used for controlling particulate

emission at power plants, cement and paper mills?

d Electrostatic precipitator
(B) Catalytic converter
(C) Trickling filter
(D) Sand filter
(E) Answer not known

Epssrgni smedsailer org snpilen sis@m wrsssmer B&s Weassd Heowrisedr,
SQuair Qgmihsreamasar, &1élgs Qzmilhereasdar - yHweupHde
vweTLRSSLUREDS ?

(A) Pewddr eSpugaunsd (s CrmevBLigs GAALACL L L)

(B) &ewenyss wrpf (CslLeiys semeuiir)

(C) Qsm@Puep augsi i

(D) wvewre cugsiiy

Electronics and Communications.
26

Which of the following are the primary colours in a Colour TV system?
SpsaaLupmdr, cuamans Cstawssrid  ewinder, wseae  HlphiseT
wmeneu ?

(A) Blue, Green, Yellow
B, LFmE, LEHFET
(B) Yellow, Green, Violet
LD(EE&ET, LIFaNF, DaIgm
(C) Red, Yellow, Violet
Sleuliy, EpFeT, cargm
‘Qﬁf Red, Green, Yellow

Sleuliy, UFMEF, LDEHFET

27
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Yy M WS e W] T 1) M WL L U

150. In TV transmission the audio signal is : modulated.

(A) Electric (B) Phase ,

(C) Amplitude @ Frequency

(E) Answer not known -

Qzrevasstid  gefl  urdld géaﬁ] DEDG . uearGuhmLb
Qewaul L g.

(A) Bew . (B) sLLib

© oo (D) =i tQouc

28

Application of Cathode Ray Oscillograph (CRO) is
CsCsn® it s@alprsd (CRO) SpsanL asp@ vweauGEpsg

(A) To study the waveform of AC voltages.
AC Sianaigsssen Siemmegeusms Sram

(B) To study the waveform of sound from musical instruments.
QeucuCeugy Qanes smelsaialmbg eumbd @aluier dmeIUSMS SmeRT

(C) To measure small AC and DC potentials
Sy AC wpgo DC Henanpsstisener smam

6 All the above

Cuhsear. AneTSgIb

29
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Which of the following are correct?

The condition at which the amplifier behaves as an oscillator is
(1) Amplifier should have a positive feedback

(1) Af=1

(i) AF=0

(iv) Amplifier should have a negative feedback
SpssramUeuhpieT ereney sMlwmaraney ?

Qupsdl seauilupdlurs GeuaduL s Cameuwrer HlUbsmearser.
1) Qusdwurarg Crr Geran L smss Qaramgmés CaamHib.
() Ap=1

(i) AF=0
(iv) Qumsdurargy afinleran L samss Carams més CeuamHib.
(A)\/(i) and (ii) are correct (B) (i) and (111) are correct
(1) wHmd (ii) &M (1) whHmub (1) &
(C) (i1) and (iv) are correct (D) (iii) and (iv) are correct
(i) whHmb (1v) &M (1i1) wpmin (1v) &
SOU-ND S
30
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Sound travels at maximum speed in

M Steel
(B) Air
(C) Vacuum
(D) Water

(E) Answer not known

@ @afl sifls Causgdled Qsaaib.

(A) e

(B) smom

(O Qaupdliwd
D) g

w0 T T

The reason for expressing audio power amplification in dB unit is
W our ear response
(B) easy calculation

(C) no other unit
(D) to honour Graham Bel .
(E) Answer not known _

el = Hmed Qu@é;é]uﬁ]drr i@ QLdud erary GDIILSHETET STTETID GTETEN ?
A) e Gssfluemta

(B) eeafife semsdl apiguyd

(€ Eani cbs e Qs

(D) Agarbd Qué-anew saTllILFHSTS
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32

Decibel is a unit to measure the

(A) Intensity of Radiation - \M Intensity of Sound
(C) Intensity of light | (D) Intensity of heat

(E) Answer not known

QL&lueé GFG'tl'l:'ng_[ 8 IAEGLD R AVE BGID.

(A) sdielsflan Qardlay (B) @& Qsdley

(C) qafieQerley (D) Qeautiug Qedley '
33

When mechanical waves have a frequency below the audible range, these
are called?

Quibdly semaser Calssdamiqu aurbln@s 6 dibeuar Gsmamymégn GCungl
@eucumm SenpsaLiLi(pdlemmen.

(A) Sonics Infrasonics
galllwe (Camet &) grelpmedlwe (Gemuiym Camarfls)
(C) Ultrasonics (D) Supersonics
BQwimed) (il Garafls) @LLTGarafls (BCGaus gedl)
34
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Which of the following is/are true about Doppler effect?
(1) Doppler effect in light is symmetric
(2) Doppler effect in sound is symmetric
(3) Doppler effect in light is asymmetric
(4) Doppler effect in sound is asymmetric
(A) (1) and (2) are correct (BM(1) and (4) are correct
(C) (3) and (4) are correct (D) (2) and (3) are correct
(E) Answer not known - | | |
Lrdent efifenareneuls QUINpES SpESTEmID SnbDmissEheT erenau Sflwirarene?
(1) gafule et elenerey swédyrans
(2) @l Lrliart eflenerey swarrang
(3) gefuie Lmiert elenerey suﬁé&nbw
(4) @aule Lriart dlenerey sw&fTpng)
A) (1) opopo (2) sfwraress (B) (1) wpmib (4) sPwrerenay
©€) (3 wogid (4) sfwrenenas - D) (2) womb (3) sflwreneney
(E) e Qsflweldana | '
LIGHT
35
A laser beam 1s used for carrying out surgery because it
spienel AflFes Qeww Costr sheap LwaTURSsLILEREDE aEarteafld g
A) 1s highly coherent beam
Wseb g@flued shepwm@h
B) 1is highly directional beam
Baayd dleng sHenDn 24&D
( 1s sharply focussed

Fafepowrer @ellwb Glerearg)

D) 1is highly monochromatic

iISlmainh exthanm Elmanonr oo
36
SYED youtube channel : https://voutube.com/@Syedexamguidance

Telegram channel : https://telegram.me/syedtnpsc

61


https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

Quantum nature of light is not supported by the phenomenon of

(A) Compton effect

(B) Photoelectric ef_fe-ct'

(C) Emissiori and Absorption Spectrum
(D™ nterfereilce of light waves |
(E) Answer not known

gofludlen @eunern_Lb QaTaTens |pasTeRTLIGDIIET aﬁg@sw cflenemeneu clleméaEmg)?
(A)  smben eSenerey

(B) gaflbiiar eQenemey
(C) 2.8pey Finwrene HMID 2 L Seui Fiporena
D) qef Siewsaen @gﬁﬁ.@_eﬁlmmm

37

A convex lens of power 3 diopter and a concave lens of power 2 diopter
combined together. Then the equivalent power is

GNQeafler Sper 3 Lwriult opmd  GPCoeaAar Hper 2 Lwrold
QaassuuBSng. AW Sper Qamanss ey ereueury @)[HSESLD ?

(A) Concave lens of 1 diopter ) Convex lens of 1 diopter
GWQeendlen Hmerr 1 Lwimiiir &N Qevenfler Hper 1 Lwimdiir
(C) Concave lens of 5 diopter (D) Convex lens of 5 diopter
GWPQeenflen Hmen 5 Lwmiii Govendlen Hper 5 LwrdiLi
38

. The power of lens is measured 1n
Qaerdlen Hneer —————— U6 DETESQMLD.

Diopter (B) Aspheric
ML WIMLILIT Sev@uflé

(C) Newton (D) Gauss
Bl L6 &6

39
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Assertion (A) : Light incident on a surface at a polarising angle 40° will
have the same angle of incidence 40°.

aapm (A) : @n sasSlear By &b geflldar seareflanerey Camemrgdler
way 40° erefler, LECaramsdler wlliyn 40°au@b.

Reason (R) : Polarising angle is the angle of incidence for which the
reflected light is completely plane polarised.

smyerd (R) : genellenemays Camantd eramiiupieugl, erbgCeumm uBhCararsdler

wHUdnhe Grdudssuul L sflrrerg wppeugih getelleareybm

gafluns Glmésib.

(A) (A)is true but (R) is false

(A) sl gpeme (R) seum

(B) (A) is False; (R) is True

(©)

(A) seumy yammer (R) &

eflar&aomELDb

(D) Both (A) and (R) are False

40

41

(&) wpgid (R) e seugy

The colours exhibited in soap bubbles due to the
Cariy @Uipsaid aarann Corampeishe qafuder

(A) Reflection (B) Refraction
erdlQymafiiy 261(h) (Heu &)

(C)V Interference (D) Diffraction
GOSE_[H elmeray aflefliby efleneray

(E) Answer not known
aflen. Qzflweldanen

oth (A) and (R) are true; and (R) is the correct explanation of (A)
(A) wppn R) @rawdn sf ; wpgbd (R) edug (A)ss sflwurar

of light.
vwe (B & mg).
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Pyrometer works on ———— law.

@uGrmSL Lt ———— affufen SiguiuemLwio Caueme Gswudng
@ Stefan's law (B) Charle’s law
evie e 6ild) gmiraen id
(C) Boyle’s law (D) None of the above
urile a9 Cupaadlu eagieylldena
NANO
42
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Which of the following statement is/are correct NANOBOTS are : | |
(1) Robots that carry out a very specific fm:idfcion at nano séale level
(2) | They can be injected into blood stream )
(3) They can be used to meaéure toxic elements in the environment
(4) They aré very cheap to prociuce |

4) (1), (2)and (4)

(B) (1), 3) and (4)

OVAD, @ and 3)

O (D, @), (3)and (4)

(E) Answer not known

Spssnamueupmer arg/revau sfwnar sapmy NANOBOT pr@enrurl. eraniu@eus
1) emeMud L uafleaw QEI.I'.IUJ 2 ga|ib Freenmbi 1 Hareflwrar GrrGum gy@Eb

(2) @eabep Brés pnarm&aﬁa: a_l_l_l@,sgsurrm
(3) @mpmg) SHMEGP 2 dtar HEsiL Gurr@usmm &IGITG&&]I_ uumnu@ggmrrm

(4) Qapep wuw Qsiiaig) s mﬂ“wm@
&) (1), @) wppid 4)

B (1), ) vppod @

© (M), @) wppid )

@ ), (@), (3) wogi> (@

43
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. Which one of the following is the Natural Nanomaterial?
Spdaen_euhnidr @whenswner renn Gummer ag?

(AM Peacock feather

uladlm s
(B) Peacock beak
wufles e,
(C) Grain of sand
LOGHTED B el

(D) Skin of the whale
Hubliasagdlen Cgmme

44

The method of building Nano materials by assembling atoms is called
SigmiGsener qenm Ceiiugen pped priarm Gumggenar 2 ReimTd@Eh penDenw

Eeuaum) enLpdiseumb

(A) Top down approach {B)’gttnm up approach
Cud & seEaon SPmrE EnEpeD

(C) Cross down approach (D) Diagonal approach
EQISE HIEIGHED ppene GBI migniEpenD

(E) Answer not known
D.Elements and Compounds,

G6ufloLd G&yLoLD
1
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The carbon filament is invented by

(A) Ampere
(B) Newton

M Edison
(D) Volt

(E) Answer not known

sriuer Wearalley semBigEseuT

(A) e Quit
(B) pyrien
(C) ergaan

(D) Geumedl_
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Which of the following is used for artificial rain?

(A) Liquid oxygen (B) Liquid Hydrogen
(C) Liquid carbon monoxide d Solid carbon dioxide
(E) Answer not known '

Qewmens werp Guw Cuossder g graiiu@eug g ?
(A)  Sreu <sadlgen (B) dyeu evami_rgetr

(C) &rau sriuer Gurarmémen () (D) AL snituer L <pé@ev

3
Bordeaux Imxture contams
(A)\quO4 + hme

(B) 7nSO.+ lime

(C) HgCl:+lime

(D) K2COs+ lime -
(E) Answer not known .

Gurrrnq.u_lrraasm HREE GI‘GETLIQJI. o - < SLD. -_ |
(A) CuSO4 + a'ras‘orsmrrwq |
(B) -.-ZnSO4+,arrammrrLbl_-;_
©) HgCla + samammbpy
D) K2COs+ sa@mammdy

4
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stated’ that the propertles of elements are a perlodlc
, functlon of atomlc numbers. x _

(A) Rang
(B). Werner
(C) Mendeleef
‘(D)VﬁOsle_y |

(E) A'nsWer not known

saflmsaien LaTLSET mmng Gsu_icburr@ - iFen él@j Grsmsnmrru Qurrgjgg
@@a@m erams; mﬂumr’r .

(A) Grms

(B) Qeutremit
(©) Guer et
D) 'G.Lorrefo_Gm-

Which of the following particles has same mass as that of the electron?
Qereupd gsarsaiier eraslraflen Gs jarey Hlavm QST Hi&HET 6rg) ?

(A) Proton
LGy meit
(B) Neutron
(Blw, L e
\Z( Positron
umé et
(D) Neutrino
Bl NGeorm
6
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5. If ‘A’ is the mass number of an element, then volume of the nucleus of an
atom of this element is proportional to

@5 safinsSear Qurmanarn eram ‘A’ 2ise A@ssHeTaE UmD6E 6bhg ell&sd ?

A
(B) A’
@ &°
(D) A
7
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»9. The splendid blue colour of ultramarine, which 1s used in oil paints and
paper production is due to the presence of which one of the following
1ons?
aam@eny euamenl y&s wLHmL st surfudd  LwETLRL  SHHOESD
(ultramarine) &psengmid abs @ Swalure WVssfpbs Beflnsamsu
Qupmierarg ?

( Polysulphide [S?"] (B) Chloride
uegLamUL([H [Sf'] &Gemmeny(®H

(C) Sulphate (D) Polyiodides
FsOGUL® v Guren ()

Iodine is insoluble in water. Then how Tincture of Iodine is prepared?
2Cwmgen Hifled saqwng 2 e ereucuny et HCwmger swrfdsiiuGEpg ?

(A) By dissolving iodine in alcohol
CuMgenaT L 0sanTld Samrss)

(B) By dissolving equal amount (10g) of iodine and potassium iodide in
water
g0 Setayarer CGwmgenr (10g) wHmb QuriLrdlwun HCureLamw Bfld
ENEHG

(C) By dissolving potassium iodide in water
QuriLrflwbd HCureLeaw Sfd samrss)

{) The aquous solution of Iz and KI is making (upto 300 ml) in
rectified spirit
2Cumgen wHp Qurirrdluw HCwureLger Hiw sorFme &MLES
augds osenraar Ceiggy 300 ml warelnE smreme swriss

(R Ancurar nat rnaumn
9
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Match the List I with List II :

List I

(Hydrated Salt) .

(a) FeSO, - TH,O

; (b) Na2003 * 10H20

(© CuSO, -5H,0
@ ZnSO, - TH,0

(e) BaCl, -2H,0

@ ® ©
A 5 3 4
B) .4 5 3
cvs 5 4
5 4 1

List IT

- (Uses)

oA W

d

1
1
1
3

(E) Answer not known

Textile Industry

- Laboratory Reagent

Making of Mohr’s Salt
Fungicide .-
Manufacture of Glass

(e)
2

b N DO

LI g 16D I@tu L g uied i X QuUINmHSSHIS :

L igwiéd I

(BGrdlws 211y)
(a) FeSO, - 7TH,0

(C) Cus04 . 5H20 ]

(d ZnSO, - TH,0

(€) BaCl, - 2H,0

(a)
A) 5
(B 4
(©) 3
D) 5

(b
3
5
5
4

)

(c)

4

3
4
1

L uiguwe IT

1.
2.
3,
4.
5.

(d

R SN

(Vwemaer)

gejefis Qgmfla
2pIcuss Eryenf

Guomired 2 (1S swrigse

| L eHensd Qsmered)

| setmanTmy, SUTAEHH

(e)
2
9
2
.
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10

Which of the following compound induce flowering?
sraugmsafley yssaflen 2 pusdlew gramdin CeudluiQummer wrg ?

Florigen (B) Ethylene

Gerrflggen ergSlabenm
(C) Abcisic Acid (D) Suberin

Sjuedlalls o8l @uifle

11
Calculate the concentration of H,0* ion in a mixture of 0.08M

CH3COOH and 0.06M CHsCOONa at 298 K

(Ka for acetic acid = 1.84 x 10™°)

0( 2.4533 x 10~ mol I (B) 2.7613 x10° mol I
(C) 3.4533x10° mol® I” (D) 2.7713 x10”° mol I”

(E) Answer not known

298 K Qauiufeode, 0.08M CH3COOH wppw 0.06M CHsCOONa
QsrerL samandd o der HO' gwelllar Qeflellamens samsdHs.

(@1flgs sfosder Ka=1.84 x 107°)

(A) 2.4533 x107° mol I” (B) 2.7613 x10° mol I"
(C) 3.4533x10° mol* I (D) 2.7713x10°° mol I"
12
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. Ina nucleus, protons and neutrons can exist together due to, which of
“the following forces? ' -

(A Mukawa forces

(B)_ Vander Waals forces
(C) Coulomb forces
(D) Newton’s forces =
- (E) Answer not known , ‘
BpssamcupmieT, - THS efﬂmaﬁanrm M SigSEmaile, L]GIJ’I'I’I...I.II’GI&@I.D -
BuLorasab gamrs Qoss Gadipg? |

(A) | u.wa;rremr cNengger

(B) Gmmn_rrmrrm‘sﬂmmeir -
(€) smgmb fesser

D) Py Lerdlersser
13

Super oxides contain

GUUT Y smaevhHisafled 2 eTeTg)

(A) Of ion (B) O ion
0 wwef . O sweafl

(C) O%ion « O ion
0% gywef O; sjwef

14

The only non-metal which is a liquid at room temperature is
Sop Qautiufleneuier Hyeu Hlaveouded 2 arer Gy HGamsd

(A) Chlorine (B) Gallium
&CGarmflen &redlwitb
(C) Mercury ) Bromine
Quoirgf yCymbdleir

() Answer not known
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15

). The Zig-Zag movement of colloidal particles of cytoplasmic matrix 1s
called

sl GLmQerresdlen gaipiblenaiQUMbeT suemenhgl euenarhg G b pareller Gl
(A) Streaming movement

evle MOk bhasiTe]
(B) Amoeboid movement

QBT BSHTE
/C) Brownian movement
U@ rerenflwer maTey
(D) None of the above
@lanau aTgia|b Glerena
16

Which of the following is/are not an allotrope of Carbon?
SleiTeu (heuaTeuD MIET 6T/ cTeneu &riTLiaflem mHmi(mh 66 ?
(1) Diamond
enGUTLD
(1) Carborundum
sl uryeri_ib
(11) Graphite
Symenui

(iv) Fullerene

L evev Teor
(A) () and (iii) (B) (i) and (iv)
(1) wHmd (111) (i) wpmb (Av)
(CV(11) alone (D) (1), (111) and (Gv)
(11) v Gw (1), (1) wpmb (1v)
17
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. Octane Number is zero for
n-Heptane
(B) Isooctane
(C) n-Hexane
(D) Isoheptane

(E) Answer not known

GemeumeuaTaupmieT eTg 2ECL 6T eTam LRlwb 86 2 6TeTg) ?
(A) n-QapuGLen

(B) oCGsreysCan

(C) n-QapsCsen

(D) £Csm@aniGLen

18

Which halo carbon has long atmospheric lifetime?
Ths aDTCOISTILET UMEEHEHEE Ul QUL STOD SIS &L
w Chlorofluoro Carbons
&CarrGyryCenrnGrym srirLcTs6T
(B) Hydro Chlorofluoro Carbons
aanL Cyr@CernCrryGearnGrm smiruegeT
(C) Methyl Bromides
QusdHe LyCymeno®&er
(D) Methyl Chloroform
QusdHe @&GarrGyrumid
19
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Cadmipone is a mixture of which of the following?
CeslGumen eretuig &G 2 dtem eraupdlen Hoeeu ?
(1) Cadmium sulphide
CaslBlwb sdeau(
(i1) Barium sulphate

Cuilww FaoCuLl

(i1i)) Cadmium chloride
Cabwib @Catreny®H

(iv) Cadmium sulphate
Gar_Blwb srGur

(1) and (ii) only " (B) (ii) and (iii) only

(1) womid (11) LG (i1) wpgd (1i1) wLEb
(C) (i) and (iv) only (D) (i), (11) and (iv) only

(i1) whmid (1v) L ED (i), (11) wpyw (V) L Eb

20

. The conjugate bases of Hydrochloric acid and acetic acid are
and
aapl Crr@Gearmfls wHmb Nfgs Bemsalear Qe srrRsaTTES)
HPID ————— G D.

(A) H" and H™ ﬁ Cl™ and CH3COO™
H* wpgw H” Cl™ wpmyw CH3COO™
(C) Cl* and CH3CO0~ (D) C1~ and CH3COO*
Cl* wppw CHzCOO™ Cl~ wpgw CH3COO*
21
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A compound as hard as diamond is

e Gurenmy Wss Sy arwrer Gaio

‘6 Silicon Carbide

Sledlsanes smivenu(p

(B) Silicontetra Chloride
Sdsaren@LLgr gGarrang®

(C) Silica
Sdl&an

(D) Silico ethane
AN&ECar rECgen

22
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.. Match the following measuring instruments with the physical quantities

they can measure :

(a) Hydrometer density of sugar in liquid

(b) Saccharometer levels of alcohol in spirit
(¢) Lactometer relative density of liquid

(d) Alcoholometer
(@ ® @© @

W o

creaminess of milk

@1 2 3 4
B 3 4 1 2
-tt)( 3 1 4 2
™1 3 4 2

(E) Answer not known

&Cy Qsn@éslul_(érer Semellhn smelsmer g eralldomigpw @uibHiTuic
LIGRTL&@EHL 6T GLIm(h58is.

(a) aan Grrworaf 1. srsseqdear s
(b) snEsCrmoned 2. smprusden Siits
© wnsCLmonad 3. frasHer guuLisd
@) wgumraf 4. uneddr SiLiES
@ @® @© @
@1 2 3 4
® 3 4 1 2
© 3 1 4 2
1 3 4 2
23
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Ammonia is prepared by

<Comaflwr
(A) Solvay’s process
FréCGeu wpanm
(C) Deacon process
le STES (LPEHD
24

wapulie sgurfissiu@dng.

(B)

aber’s process
Camuir (penm

(D) Mulliken process

(a6 (pen

Which of the following act as amphiprotic ions?

Hetreu(meuareupmier ergl Frfluey YCrmi s sweailurs teudu@ib?

(A) H,COs
(C) PO

(E) Answer not known

25

Match the following and choose the correct option :
Spssraruenen Gumsss whmb #furer dlalaus Coimlshasa ;

{a) A non toxic glue
for plywood
(b Uusnsdsrar
BEFSGTEOOUND Lms
For long term Medieal
monitoring
Ber_ ama) wmsse
samsreiiGbe
High performing

. lithium-ion batteries
e wit Gswddneyeni
dlgdun wefl Cul L fad

‘Greener’ way to clean

(c)

waste water treatment
filters

“Usents” sufley Bir asdafitiy
GUHL g HanaT &EEED Heliashe

(@) () (o (d
A 2 4 1 3
BWS 4 1 2
G2 & 2 1
Py 4 3 B 1
[a 7 . R 1 F—
26

SYED youtube channel : https:

1,

Chitin in crab shells
Ban (b absaila o drer S

Glucose oxidase enzyme

(B) Sz
(D)¥HS-

and iron oxide nano particle
BlansGaray 246G e Arrd whnb
Eimby sEms@ Brlem gsdrser

Gluecose and eitric acid

-@@&G&rrs?u m,@)gyu; HALfS oyfland

Sugar cubes dipped in
poly dimethyl siloxane

urell enLGlwgHa HAarsbrafld

GenemEs UL STEEETEEL I,

t m
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The only block that contains all three types of elements in Periodic Table.

(A) s—Dblock d p — block
(C) d—block (D) f-block

(E) Answer not known

saflw auflews o Laiamarmuier pparn euanswrenr saflwiigmeruyn Glasfrdm@dm‘r 2Cr

CENGES

A) s-— an@ﬁ | ' (B) p-Qsred
©) d-Gsred (D) f-Ggred
27

Which of the following is incorrectly paired?

Spsasramuaneudiled aTeney Feunns @)eerTeasLILIL (HeTeTe ?

(1) Beryllium — Crookesite
Qufledlwid &m&Slensnm)
(11)) Thalium — Colemanite
Sredlwid Cameoenar
(111) Aluminium — Bauxite
Sl eflwid Un&engL
(1v) Germanium - Germanite
Qggrwmafluib . Ggirwenar . ‘
(A) () and (iv) only {(i) and (ii) only
(1) wHmb (V) LLEW (1) wHmb (11) WL Hbd
(C) (1) and (111) only (D) (i11) and (iv) only
(11) wHmb (111) wLEb (111) womd (1v) wLHb
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28

Cane Sugar is made up of three elements y
and

(A) Carbon, Nitrogen and Oxygen
d Carbon, Hydrogen and Oxygen
(C) Carbon, Calcium and Oxygen

(D) Carbon, Hydrogen and Iron

(E) Answer not known

SMIOL| FTESDTUTTG — ; whHpith ——— fw eperm
gaflohisanrd =g

(A) sriruer, eplymen WHDID &S Qe

(B) sniuen, e@apt yger wHPID &gy

(C) smiuer, sroflwib wHHID 2&Egme

(D) sriuer, e@anlygear WHHIL @HDOY
29
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Aluminium reacts with Sodium hydroxide to give
(A) Sodium Oxide + Alumina + Hydrogen

(B) Sodium Meta Aluminate + Water

(C) Metallic Sodium + Aluminium Hydroxide
6) Sodium Meta aluminate + Hydrogen

(E) Answer not known
Sigileflwn Gamguwid QD LT T&m& ([ L6t Gﬁ]mmqlﬂpg &(HEUS)

(A) GCosmgwid smav® + AT + QDL TR
(B) Gemgww Quiir oguflGar + Bi

(C) 2 Gaors Gemquwid + sigiflafuib mml_l;rrr&;m@u@
(D) Gemgquibd Qi élg’uL&GGﬁTI_ + @@L e

30
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. Choose the one which is not a Heptahydrate.
Spsasnamuaaundld g QantiLm eanigCrl e ?
(1) Green vitriol

u&ens el g fwme
(1) White vitriol
QeueTaner &S 1q Mwimed
(111) Blue vitriol
B el igMwimed
(1v) Red vitriol
“Sleutiy Mg Mwimey
(A) () and (1) only
(1) wHmb (11) WL Ew
(i) only
(111) @b
(C) (@v)only
(iv) b Hd
(D) (1) and (iv) only
(111) wHmbd (V) L EIb

E. Acids, Bases, Salts, QILDI6LRIG6N, ILOIGLMISET, 2_LIL|&6IT
1
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A weak base has ___ conjugate acid and a weak acid has a
conjugate base.

M Strong, strong (B) Weak, strong

(C) Strong, weak (D) Weak, weak

(E) Answer not known '

@(h ueIeUDHH SmyD - @enanm SilwsMmsLDd (I é_lgymg')g) <jLlevtd
Qevenr sTrs@mSLb AUHDIHEGLD

(A)  eugneuren, cugyalmasr (B) agiaibm, cugiaiman

(C)  eueaudrar. aseicunm = (D) asaicuhm. cuaicuhm

4. The main ingredient of antacid which is used to relieve acidity of

- stomach is _
A) Acd M Base
(C) Neutral solution (D) Strong acid

(E) Answer not known

audpdle o @b fles samn dFafs@h o uragaw basu oueimJ(_QLb <2 ble

eyl Qummefler wadlw ppaliQUITEHET —————— BLGLD.
(A) edeb (B) smyw
(©O) -pOpoe saysw D) &SAw eyfeid

Which one of the following is a salt of weak acid and weak base?

Epsem_eupmier erg) eIflwb Ganbs bleb wHmib eIflwib Ganbs ST 2 iy ?

(A) Sodium chloride (B) Ammonium chloride
Gamgwib @Germeni(h <bGiometlwid @Garmani (b
(C) Sodium acetate Jiﬂ Ammonium acetate
Cemg Wb G G meflwib oG
4
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Which of thé.following statement/statements is/are true about acids?
(1) Aéid fufnishes H' Ions |

(1) Acid furnishes H" Ions in aqueo:us solution

(iii) All acids contain one or more réplaceablg hyd.r;:,\gen afoms

(A) | (i) only

B)WA) and (iii) only

(C) (1) and (ii) c:;nly

D) () and (iii) only

(E) Answer not known

EpésamaupnieT a;ﬂmgmg,é @gﬁ]g’@ e;ﬂmnm FapE/ S DMISET 618/ cTeneu?

@) éltﬂé)lﬁl&dr H+$|u.lllsn‘ﬂ&m.m SHADG

() ewensdr, bissmyseia, H* auéﬂ&mm SHEDG

(i) seass SOOBEEHLD, @arrgn 2D emg@@ Cﬁmg‘)uL‘.L udeS@
- @&ll:JU.II;ILJ_L_ésa‘nLq.UJ eanL_yme al@ééésmm Q&n@me

(A) (1) LLEGW

(B) (i) wpmid (1) WG

© () wppid i) ol GG

D) @) wpyw (1) wGCWL
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3:1 ratio of concentrated acids of —— is used for cléaning and
refining gold. ‘ »

(A)\é(')l and HNO;3

(B) ‘HCl and H2S04

(C) HNOs and Hz80

(D) HNO; and HCI

(E) Answer not known

3:1 aanp aldlgrssmrshe e i SuwREeT | plss®E SEEID
Qeliweyw, ssfafssa)b LweaLGEs. ‘
&) HCluopgo HNO;

(B) HCl wpgid HzSO4

(C) HNO; wpgi HoSO0,

(D) HNOs wpmp HCI

6

Bromothymol blue is used as an acid-base indicator. The colour of
bromothymol blue in acidic medium is

LUCrnCurangwmed B eemug il - aryp Hloassriyurs vweaTuBEng.
Sl 2 _ssHlé 4CynCwreangwred Bab Hleawssrguiea Hlmb

(A) Red ) Yellow
Seutiy LOEHEGT

(C) Orange (D) Blue
2T EHE Beotd

7
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Which is the stronger acid than phenol due to the presence of th.ree sal
electron with drawing groyps '

(i)  O-Toluic Acid
(11) Benzoi_c aeid
(i) Salicylic Acid
(iv) Picric Acid

(A) (111) only

(B) @only
(C) (i) and (iv) only
(DY (iv) only

(E) Answer not known

Semena oL euallento 0@, WwHpb @paﬂgj 2Cs erevalgren seum Fmer Qsmar
Agm@daer Qug m;_msrrsrr SjdleLd crgl? '

©  O-Oureluds sufan
(i1) G]us'awrr_uﬁl&;.-ﬂl.ﬂanb | ! | Ly
(i) srehfes oded |

(V) G6s suBe

A) (i) @b

B) @) oo

(© () wipo V) w g

D) (v) wl'-@'ﬂ

8
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The sugar found in insect haemolymph is

L&fasaflan anGurelbild srariuBibd Fissm) ——————— &L
(A) Cellobiose
Qe GamuGuire
(B) Maltose
wreGLmeu
\KTrehalose
lg T&H&EGaTEL
(D) Glucose
&ep&Gairen

9
Name the steroid found 1n yeast.
FELIged STanTlU(HD  eleFmiiger Cluiwm ereimar ?

(A) Lanosterol - (B) Bile acids

rGermenie qme 955 2jletb
M Ergosterol (D) Ostreasterol
erTG& e ey red <2p,601g N Guirevie e
10
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Answer the following questioné using the data given below :
Assertion [A] :  Acetic acid is a weak acid.

Reason [R] .: Acetic acid has four hydrogen atoms but only one can
be replaced. '

(A) [A] 1s correct [R] is wrong
[A] and [R] are correct. [R] does not explain [A].
(C) [A] is wrong [R] is correct
(D) [A] and [R] are correct. [R] explains [A]
(E) Answer not known
Gemeaumd cllanrésamer Spssam GHULEET apab allenLweflssayb :

gD [A] : <filgé bl audlaw Gapbs Ablw.

srpemd  [R] @ @fllys sfesHd preng danl gt @GS @)HHSTAID,
201 @@ emanLgpeer LLHCW @LUGuwrEd Qealw Wirgub.

(A) smpg [A] &M sryeerd [R] seum

B) smppw [A]l, smewew [R] &f, <eme smemd [R] spm  [A]
Neufsselldene

(C) epm [A] saup smgewd [R] &l
D) spmw [A], smpemapw [R] sfl. sryesrd [R] sapeop [A] perng eNans@Hng

ST -~ — ~ -

. If pH of any Aqueous Solution at 25°C is 8, then its pOH is equal to
@@ Biws smysader pH, 25°C Qauvufleewe 8 aarprd, <igar pOH asns

&oLb 7

A 1 B) 7
© o oY
12
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Which among the following is an acid?
(A) CaO | (B) BaO

@ Sio; D) Naz0
(E) Answer not known

SemeumeuaTeupiedr e 6rg)?

(A) CaO (B) BaO
(C) SiOq (D) Na:0

If the pH of a solution is 4, Its (OH‘) ion concentration is

(A) 1x10™*M . ®B) 4M
© 10M G 1x10°M

(E) Answer not know.n

R Sanygeden pH wduy 4 erafler, g6 (OH") Siweaflulbler Qsday

(A) 1x107*M B) 4 M

(C) 10M : (D).1><10‘10M

F.Petroleum Products, Fertilisers, Pesticides.
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QUL Grmedlwit QUL L_&61T, 2_Nhi&6T, L &FHSCSTeL60IS6T.

1

SYED youtube channel : https: tube.com xamguidan
Telegram channel : https://telegram.me/syedtnpsc

92


https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

Match the following :.
List I List II

(a) Bassein Qilfield
(b) Digboi Oilfield
(¢) Ankleshwar Oilfield

Gujarath Coast
Western Coast

Eastern Coast

B W oo

(d) Rawa Qilfield Brahmaputra Valley
@ ® @© (@

W2 4 1 3

B) 1 2 3 4

© 2 3 4 1

(D) 3 4 1 2

(E) Answer not known

lﬂshrm@mmmmmﬂ) Qummsseyid
uliguwied I uliguied IT

(a) wurdlen TR GuwIE GRITS &L_HEeny

1
b) Heumir eramrOenris euwi 2. CupeE sLpaarr
€) @iusCasiyar eramGennis ouwid 3. A& sLbpamy
4

d) geur srarQermis e SybwysSrT LdTeTss T

@& O @© (@

A2 4 1 3
Bb1 2 3 4
02 3 4 1
D) 3 4 1 2 93
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How the chemical fertilizers can be avoided in agriculture?
I. Drip irrigation
II. Cultivation of oil seeds

III. Cultivation of cereals

IV. Bio-fertilisers

(C) II and III
(D) All of the above

(E) Answer not known

Geuerramenioudled ereueurm Geud) 2 grisamer sellidsamib ?

I. Qsm @ Briunsand
II.  eranQ@ennis elldg er@Lg
III. Ay grfsoﬂm ENEUIG

IV. =.4f o priiser

A) I wpmo IV

'(B)_ IVLm'_@_m_

€5 1L g T

D) CopsmBume siewerssid
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Why two wheeler are not normally fitted with diesel engine?

(A) Less efﬁciency‘
(B) More smoke

y High power

(D) Less density
(E) Answer not known

eren @rent(h F&H&T eursanhigamlc) g6 erghFlen GummssLiLI(heudloena?

Q) @opbs S

(B) 9ifls L s

© =8 fper

D) eophs o iss
4

The product obtained from coal tar Wthh 1s used to repel moth and other
'- 1nsects‘?

(A) Benzene "~ (B) Aniline
©) \(a;)hth_alene ' (D) Toluene

(E) Answer not known

-mrﬂggsnrﬂaﬂ@pgj élm_a;@m TBSL Glurr@m aggjug,&é] -LHYILD ﬁlm g&eﬂ&mm |
RULILFHEL umewu@é]gpg]?

(A) Quenan - (B) ai;auﬂa?dn S
© progsar (D) GurgiSer

5
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Choose a highly selective rodenticide for rats among sodium fluro
acetate, alpha naphthyl urea, norbormide and thallium acetate,
Camguwid SUGaTrCrm ofALCLL, gaur prumsd wilum, priGumiew@h whmib
grallwbd HHALCLL  gdwuepmer Wardsgaramilsermer adlsEpsE Wsayb
Caipshssiiul L Garaaan Carbds@.
(A) Sodium fluro acetate

Camguid SiGermGrm HAGLL

(B) Alpha naphthyl urea
LU BILISEH W mwim

( Norbormide

BrrGuTTento®

(D) Thallium acetate
gmedlwnd —eudl” G 1

6

committee was formed for the growth of basic
petrochemicals and their end products.

SiguueL  QuLCrr  Oslblssdsear wHhmbd Seubpdlear @md swriliysefien
UETTESIGEETS G 2 (HOUMTESIULLG)

(A) C.H. Hanumantha Rao committee

C.H. angywengymeu @
(B) D.R. Gadgil Committee

D.R. sridlé @
K D.V. Kapur Committee

D.V. syi @&
(D) K.S. Chalapati Rao Committee

K.S. s g gres @
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Match the following :

(a) Polyethyleneglycol 1
(b) Bt Toxin | 2
(c) Glyphosate 3.
(d) Proline 4

@ ® @© @
(A) 3 4 1 2
B) 2 1 4 3
© 4 1 3 2

3 2

OV7 1

(E) Answer not known

Spésar_cupenn AUrmhsss
(a) urell erflean Hanenamed 1.
) Btpsssar
(c) eﬂepm(%ﬁrr@&f_

L N

(d) yGgmredei

@@ (k) @© @

@ 3 4 1 2
® 2 1 4 3
© 4 1 3 2
D4 3 1 2

97

Herbicide
Stress Tolerance

Insecticide

Cell Fusion

&HeneTa G Hmededl
(PSS FHULSFenenLD
BY.22%.AF 3 (=)

2 ullpgm @enerrey
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LPG'is a mixture of

A) C(:'.H12 + CGHG |
®VE,H, +C;H,

(9 CzH4 +CyH,
(@) C,H,+CH,

(E) Answer not known

LPG (sepwowé erflaumiy) ereimig —— EQEEUWTELD.
(A) CgH,y+CcHg
(B) C,H, + Cs_Ha
(C) C,H,+C,H,
D). C,H,+CH,
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.. Which among the following is/are wrong about a fertili_zei'? ”
() Fertilizer must be insoluble in water
(ii) It should maintain'the pH of 10 to 13-

Gii) It should not be poisonous to-plants

(4) Only (i)
BV and 6
© O, G, i
() Only (i)

(E)_ Answer not known

Spanggd &sbmﬂ% = yrisdr Gifigs saupren éum ag?
(i) e gser BAe serung @mésed CaamBid |

(1) episdr 10 gpse 13 pH n upmofsse Ceuam@id

(iii) o grser 5@ 0515@6’5@5 méﬁ;mmﬁ @ww LG
@A) (i) oG

B) ) wpps i)

(© 6, G) wpguo (i)

® oo
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10

Nhich of the following compound is used as a fertilizer?
pSsETL eThgd G 2 yonsl LueTL@ & ermen ?

AN Ammonium Chloride (B) Ammonium Bromide
SbCwreflwbd &Gerran g < Gwrefiwib LCrrenw®

C) Ammonium Fluoride (D) Ammonium Oxide
LGS WUD i@ TH SibCwraflub L samel

11

. Due to its great commercial in:_lpdrtance,.it is called ‘Black gold’.

(A)"’.f’etroléum

(B) Coke

(C) Coal tar

(D) Ammonia

(E)- Answer not known
aafls fHurs  psfwsged GlJ.ll.'u:.llL‘r)g,'g.lTGiJ B senens ‘é@uq 'g,lﬂl&sLb’ eres
SieDip&Elemeni. : '

(A)  QuLGrreiwb

B) sosf
(C) sfigsri
(D) <Cureflur
12
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. The left over slurry in biogas production is a good manure rich in

(A) Carbon and hydrogen Nitrogen and phosphorus

(C) Iodine and Antimony (D) Sodium and Calcium

(E) Answer not known _

2R amy epusHued ugud sflaysefid X Y
B@pHmuugred SppHe 2-Twn@GLw.

(A) smiruer wWHDID @D FEgET (B) enplyggen whmith LmevLIFed

(C) =Cumgen LHMD ey oef] (D) Gsmguwid whmd sreHwid
13

The most vital three elements (Primary Nutnents) for the growth of
plants are :

sraurmseflen  eueriédlsg Ws wsdluwrer ety  gaflvmsda  (sarew
2aIL L 5581656T)

) K,Pand N (B) N, P and Mg
K, P vpmyw N N, P wvpm Mg
(C) Fe,Pand N (D) Ca, Mg and Fe
Fe, P wpmw N Ca, Mg wimw Fe
14

India’s first fertilizer plant was setup at

Qpdurallen psd 27 Spae ——ufd ApaiiiLg.
(4) Ballarpur BVGindri
LImeDITLLT é:]'r_'ggt;ﬂ
(C) Belagola (D) Rajahmundry
G!L.IGU@J;”’GDFT U’na@{ﬂaé}[ﬂ
15
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Gammexane is the trade name of which of the following?
Calwsallen eremug SparamuaeauphBle ergar euarflar @uuwir?

w Benzene hexachloride (B) Ascorbic acid
Quenfernr Qansagm@Cermeny(H SV&TTNE oflewid
(C) Chloramine-T (D) DDT
&CemmyLilen- g DDT
16

). The ignition quality of diesel fuel is expressed by

esed  eflQurmeflen uppeuiys  FTS®S
Qeuefliu@Bgembd.

(A) Octane '6Cetane
2,5CL e ECL e
(C) Isopentane (D) Iodine
oCemQuenGL e 2Cwimig.er
17

Which of the following petroleum product act as rust inhibitor additives?

Ganauapd Qui Grrellu alevsr Qummafiicy a5l g shEuure Cerdars Gurmems
QauduRipg 2

(A) Alkyl nitrates

Sdmad enpl Crl(eer
(B)w*Amino alkyl phosphates

= Garm daad ureuCL ([ ser
(C) Zinc dithio phosphates

Aus el gCum ursvGul Hedr
(D) Ethylene glycol

argfloler Eaerame

18

The octane rating for premium gasoline is

number.

©T GUOT 600T T

2 wirsy CaCGevmellanasatler &G e erawr/wH IS,

A) 70 & 91 to 94
(C) 100 (D) 0
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19

. Which Biopesticide has been proven to be very effective in controlling
locusts?
Gaul fadlaflenus s QUuRssaudd Waab uUugpdrarsrs  flmpAssiul GsTer
o Wil y&flEEamaetl e
{M\ﬁetarhizium acridum
Gl crenrflund aEflih

(C) Trichoderma viride
lq.mﬁ‘ﬁﬁserL_frmn Gﬁrﬁlq_

(B) Bacillus Thuringiensis
urdasiy gl Qe

(D) Pseudomonas Fluorescens
&G nGioraran SUGeTrraaai

e

20
Match the following :
Glummgsns © -
(a) Anilinopyrimidines 1. Herbicide
sjaflehl Garmilpilly sramen senard Glameall
(b) 2, 4D 2. Rodenticide
2, 4D ereble Glameshl
(e) Zinc Phosphide 3. Fungicide
g umevenu Lgrensd Glanael
(d) Parathion 4, Insecticide
LImiym Sl LEFH Glamenad]
( (b) (0 (@)
(A 1 2 4
(B) 3 2 1 4
(C) 2 = g 4
(D) 1 2 4 3
. : A e N
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In 2011, ONGC discovered India’s first shale gas reserve in which of the
following states?

2011-& cram@ewris Quipens eumy Hmeuand @pdHureded wse sefluumep eury
@iy Wereumd wrlotsald ebs wrHlwsHd saETHUiysslurLg) ?

(A) Assam (B) Gujarath
<B{GLELITLD SRS
(a/ West Bengal (D) Maharashtra
Cuh@ eurismerbd LD QYD TT T Gighlg T
22

The fertilizer which contain highest nitrogen content is
& SleT6ey MBLIRMmET 2 6TeTL S 2 Jib —————— &b

(A) Ammonium sulphate
S bCwraflwb FaaGur

(B) Calcium ammonium nitrate
ardflwid bGwreiwub epl Gyl

'QCY Urea

wpflwm

(D) Sodium nitrate
Cemgquib enpL Gy
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). Among the following which is a nitrogenous fertilizer?
d Urea
(B) Potassium Sulphate
(C) Bone ash
(D) Gypsum
(E) Answer not known
Sp&EE@TLcuHDIET 6TH wBLFEmen QubHmIETET 2 ib?
A wilwr
(B) Qumiirflwubd soGur
(C) erquibLyé smbLIG
D) s

23

The element needed to increase the straw of cereal crops is
sreflul ulisefler emeusGard @eapulaear fastiubhss Csameutiu@ geflod

D& D.
(A) Nitrogen
N[BT 6
Phosphorous
UmeouIye
(C) Calcium
srlwib
(D) Iron
By
PESTICIDE
24
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The insecticides that act as a nerve poison is

BUbY BEpETEE Gewdupin Ysé Gameed 2p&LD.
(A) Endrin
eresoL_febr

(B) Ethylene dichloride
e Hlalenr enL GCermeny(H

J Malathion

Lo rehwmesr

(D) Lead Arsenite

L 9T ener

(iv) Main concepts of Life Science, Classification of Living Organisms,

QUMDEMS SINETNICOIET (PSS &([hSH SIS, eUM(LPLD 2 Ul eorhigeeor
euemn&LIUMT(,

1
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— .i.s 'the,u_nidue charactérisltic ,If_é-e.lture 6f'_ma_mrha1§.
(4) Cold-blooded animals.
@) . Pﬂeumatic bones
(C) Presence of gills
(D) - l-aceni_;a | | |
(E) | Answér not knov_ﬂrn'

urg yseflen safigseamend _ YLD
A) el @rés Aam@ser
(B) -5rr;j);gai,r_r)aéé‘n C&mesrL m@uéq'aéy' . '
(©) ”_Gm_"eimﬁ@'@ﬁug
2
- Father of Zoology 1s
“efleomidliallen shans” crer H{ENLPEEL IR LI G
(A)Vﬁristut’iﬂ
iflaiy kg 6l
(B) Carlous Linnaeus
saarey eflanGamueh
(C) Haeckel
ol e daed
(D) Bateson
Gul_gen
(E) Answer not known
3
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The theory of use and disuse of organs was put forward by
“Lwerur( hmib vwetu@EiEsT 2ty Qandrensen aperblondlkseui

(A) Darwin (B) Weismann
L mitahletr Geyp e Gwen
(C) Oparin (DY Lamarck
a1l oLntla QOITLOITITE

Autobiography of “Fall of Sparrow” was written by
“ALps@Gmaluller ipssl” erep swisflenseaw erapdlweur
(A) Vineetha Menon

Maflgm Cuarei
(B) Balachandran
une&nHE ye
(C) Laxmikanth
QaeigLOlETHS
@ Salim Ali
gD 2160
CELL & CELL DIVISION
5
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. Identify the incorrect statement with reference to Prokaryotic cell.
UCrrGasflur’ys Qs @GhHg seunmmar sapdlemar samhHillgssab.
(A) Lack of membrane bound genetic material
seuaclanmed @puiul L wrugnll Qummer denwing

(B) Presence of 70S Ribosomes
708 cwens epyGunBGambaer srariLB s

(C) Presence of Mesosomes
BCenGenwser snamriuGEng

6 Presence of membrane bound organelles like chloroplast and

mitochondria
sgauellammed  @UULL  Gsd e puysetter  usRSSL,  WLHMIL
owL.CLraramglu sraruu@GEns) :

ST A = =i RSl s

6

Jawless vertebrates are
(A) Cephalochordates
(B) Urochordates

l Cyclostomes

(D) Amphibians
(E) Answer not known

sreLwpn PHOsbIsET eretumey Wreneu ?
(A) soe wsiE Grraflser

B) are wsgiEg Grrafsdr

C) aiLamyemw 2 wWfsar

D) @mamp o Whamiser
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7

Duplication of mitochondrial DNA takes place during
s Hlawwd ewl Cursrargflurelear DNA @y gédams

(A) G;—phase (B) S —phase
G, — e S — flevew
d Gy — phase (D) Gy — state
Gg - ﬁsmo Go Cx ﬂsmu
8

. In meiosis, recombination occurs in

Burdlev uglde wyGsrsams penAumib Hana

(A) Metaphase I ({Prophase 1
@wwhame I s Hlevew I

(C) Metaphase II (D) Prophase II
ewwhame 11 s Heve 11

CLASSIFICATION
9
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. Match the organism correctly with their corresponding order :

(a) Apis ' L Haplotaxidea
() Leech 2. Cyclophyllidea
(c) Earthworm 3. Hirudinea |
(d) Taenia 4. Hymen_optera

@ ® © @
A 1 2 3 4
® 2 4 3 1
C) 3 2 4 1
(D% 3 1 2
(E) Answer not known

2 Gflarseng Seupler Ggm iy w eiflamsuer sfwursl QuTmSS6eyD

(a) Cgeafl 1.  apruCemnéensgwr
(b) sileL 2 s&Garm.sSlevadligwm.
(c) wey 3. abmgeaiur |

(d) mproryu 4 aanCarmIALgT

@ O © @
A 1 2 3 4

® 2 .4 3 1
© 3 2 4 1
D 4 3 1 2
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10

The prokaryotes are included in the kingdom

HCrrCasAGum_Hisdr —— @Qrriedlwussler o erer_sHlujerang.

(A) Fungi Monera
LLEHMESHET Curaflgm

(C) Animalia (D) Plantae
afiGoadlwr QermesrGL

11

The system of classification proposed by Carolus Linnaeus is
&Crreven elanGarwey wper@wmfihs uamslLTLhH WD 6 ?
(A) Natural system

Puopews o

(B) Phylogenetic system
@aruuflermo el wenp

(C) Modern system
DIBTEEETD (LPED

6 Artificial system

Qewpens penm
12
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Match the following :
Spésan_suhenpl Wummss

(a) Carrageenin 1. Insulation of boilers
siymed el e Qsrélsaersafler sriyh Qurmer
(b) Diatomite 2. Dental impression
L’ Grennl L&) Liigoh
(c) Kelps 3. Irish moss
Glasen gy @fley urd)
(d) Alginic acid 4. Brown Algae
=idglals 2bla LU Lrdser
(@ O (© (@
A 3 4 1 2
(B) 4 1 a3 2
(C) 2 1 3 4
(D 1 4 2
13
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Assertion [A] : Gymnosperms are naked seed plant.

Reason [R] | : The ovules are enclosed by Ovary in Gymnospermic

plants.
() Both [A] and [R] are True
(B) Both [A] and [R] are False
(C) [A]is False, [R] is True
& [A] is true but [R] is Palse.

(E) Answer not known

sapm [A] ¢ HoCarmav@uitd Hpbs aﬁ]wgg STEUTBRIGET B@GLD.
snrenrd [R] . PuwCammev@uid  graugmselld  Goray  GbHeuwred
GPULLGGEGLD-

A ahmgn [A] wpgid smyeerd [R] @ran@io sflurarene
(B) smpm [A] wpgb srgard [R] @rem@w seuprarema
(C) swpy [A] saug, smyamd [R] &

(D) smpm [A] oM, e sryemd [R] geum

Evolution,
14
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The fossil of Java-Ape-Man Pithecanthropus erectus was discovered by

sreur  (GrEig waflgafler  Lmsugelwrar WsSHGaamGarGriusy  eTrSLsuanw
sevor (HLl1g 556

(A)

(B)

(©)

Mayr
LOMWIT
Simpson
&l bzen

L.S.B. Leakey

eTev.6ren. 9. &

w@fr Dubois

15

\g-L1mulleiv

The present form of the World was created by

SHHTQL 2 WHLD T LIS DhE 2 (HeunESUIULC (HeTarg).
(A) Evolutionary forces
uflewrmy sédlsermed
(B) Inorganic and Organic Materials
S0 HNID S QuUmrHETHETT
(C) Almighty
HL_GGITITED

16

ﬂ( Organic evolution

sl uflarmbgsme
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. Liafe 1s a physico chemical entity which exhibits

2 W4T gpp @bl — Couglullwe Gsm@liy. @eaieyudfl dar@ésliulLameusarfla erens
QeuafliL@ sg18ms) ?

(A) Reproduction
@ erielumEeD

(B) Irritability
D Mg e i)

(C) Locomotion
L UQUWrTES

)p) All the above

@ en6U HENETHHILD
17

In evolution, “use and disuse theory” was proposed by
uflewrmedlwielled “Uwien wHmID Lweadn’” CaTiuTigeme (WperGwmbseuir

(A) Charles Darwin (B) Alfred Wallace
&miave L miellenm ST GUTEED
(M Tamarck (D) Hutten
QUITLDITTE QUDITL_L_6hT
18
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Natural selection theory was proposed by
(A) Lamarck
(B) C.D. Darlington
Charles Darwin
(D) Henslow
(E) Answer not known

Qupens Caitey Carcur® wear@umbseur
(A) Qewris

(B) C.D. _niedlmiebr

(C) srireen Lmireller

(D) QamaravGer

19

Germ plasm theory was proposed by

Qg Gerrew CasmumieL wearQurylbseur

(A) Charles Darwin ﬁAugust Weismann
a6y Lmiredler 9igevL. QeumiicvGroesr
(C) Gregor Johann Mendel (D) Hugo Devries
Slysi Cgrapmer Qe e ancCGan g euflev

20
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Caﬁdal Vertebrge and Vermiform appendix :ire example for
(A) Secondary 'orgéns o ' |

(B) . Ana_‘logdus organs

(C) Homologous organs

| (DWestigial organs
(E) Answer not known

| @eiTGleer_[qu LHOID GL T TEHS a@ﬁgé&m'_l_tr@m?
@) :.'@u'sﬁurL.lriLb' Hleve 2 mliLser | o

(B) G]éu.@ P65 o mtILseT

©) .@;mmq@g,sa;ﬁuqm |

(D) ‘G'rés.mﬂua;si'r
21

National Fossil Wood Park in Tamilnadu is located in

SOIPBT 140 Caflw Ggmoguiliuigd ] YhsT @EiE Db arerg

..Kr Villupuram
ey

(B) Madurai
LO&I601]

(C) Tirunelvel
S mQpeGaeuad

(D) Tuticorin
EAEEARICORE

22
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3. Brood pouch is found in

SIMLETEHGL euwneng sremiubhibn 2 uifland

ﬁr Male seahorse (B) Sucker fish
ST HLO G 2 lgre L

(C) Female seahorse (D) Female shark
Queir L6 @GSy QuesT &om

H. Genetics, LOJLIILIGL
1

In which animal the polytene chromosomes were discovered for the first
time?
aths 2wl flangdlev (psem (pgedlsy Limalliear GGITGLrGambaeT savrmluliudLg)?

(A) Fruit fly (B) Drosophila
LIpLL &S] 4 GrrGamenLicur

( Chironomous (D) Housefly
nsCTeTLosn GIL_(B rF

. The number of Nephridia present in the excretory system of amphioxus
18

spolspsseatlar  sfle) B5s bam esdacrar  Qpufiqurssefiar aaraisms

—— GID.
(A) 70 pairs (B) 85 pairs
10 Cggmigger 85 Gsorig.ser
‘}()] 90 pairs (D) 75 pairs
90 Ggymig &l 75 Ggrmig &6
3
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) Barr body 18

(A) Actlvated ‘X’ chromosome |
(B) Inactivated golgi complex |
| :(C)Vﬁlactlvated X chromosome
D) Inactlvated dlctyosome
(E) ',A_nswer 'not_known
unf &g;uuq Greb‘rugj _
- (A) ."'_'@&UJGD ;ﬂana)u.‘ﬂa) 2 6rem ‘X @GurerrrG&mo' |
(B) Gleru_muuurg Ganrdana ol (B Glurr@srr .
(C) | G&u_le)u!_rrgs X @Gl;rrrCBLorrG&rrLo
D) QeweuLrs g1 CUNGETD

‘The enzyme involved in unwinding of DNA is

(A) Telomerase | (B}élicase

(C) Polymerase ‘ (D) Ligase

(E)_ Answer not known

DNA-eneu @rein(® @evipaemns ﬂlﬁﬁ:u@é}_ FRUGD Gprd wing?
(A) QL CamoCrev - (B) QapeliGaed

(O ureQwCrei (D) fiCse
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5
A single pair of genes produces two or more character is known as
gpen GCgmy wrusssaT @rarth Gy  @QranhsE  CupHuiulL

ST FLIRISEDET 2 (ThH6UTEHESM GTaTm SAMPESILHEDF.
(A) Pleiostrogenes (B) Plasmogenes
WeflevCLrm wrugn&ser GerravGom wrUEm&GET
Pleiotropism (D) Multiple genes
WeflGumg Crmied LI LG S&ET

. The genotypic ratio for monohybrid cross is
@ uaty seouler gamés cdsh g ?

A) _3:1 B) 9:7
1:2:1 (D) 9:3:3:1

7

Which is an example of sex linked inheritance in man?
@Qauphed erg unallanaul wrLGupdlen 2 gryamomELd ?

(A) Tuberculosis (B) Typhoid
&TgCBTL enL_umii(b)

(C) Nausea w0 Haemophilia
BrEwm anCGomledluim

8
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disease.

Colour blindness 15 a

ApsEml G Cpmi g —

(A) Iron deficiency
Gibysss G

(C) Vitamin deficiency
eosul_Lullém Fenmum

(E) Answer not known
ehlenL. Wgilusticvena

CrmumsLb.

(B) Air borne infection
anhmeud Ganhm
ereditary
urThUfwh Frims

The ‘Operon model’ for Gene regulation was proposed by

LOTLIGR) Qeuefliur_enL
et mlbgseur

(A) Messelson and Stahl
Wadaer wHMmID evL_TeDd

W Jacob and Monod

QBOILIL{HSSIS N && et

‘@uiLiyeir

(B) Watson and Crick
eurL_gen wHmID Hifls

(D) Avery and McCleoid

wrgflenw’

Cassts whmibd CurerT® geufl wHpbd Qusadwmii@

s

10

3. Genetic drift is also called as

wrug) Quuwirss M A®WPESILHE DS

Sewall Wright effect
Soured eyl elleneray

(C) Gene flow
UG L L LD

(B) Founders principle
sollayaTLirey Camium

(D) Crossing over
GNECASST IHDLD

11

The number of chromosomes found in ‘Turner syndrome’ is

‘Lirert e Crmsley’ sresriiu@b &CrmGurCambsaiian aamanflsams

(A) 44 &) 45
(C) 46 D) 47
12
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Mule is a hybrid of
CanrGoum spens @eupdlen slibarnom@gn

(A) Sheep and Donkey (B) Horse and Pig
<2, LOHMD HPDS @Seny wHmID LeT
(C) Donkey and Cow ﬂﬁ Horse and Donkey
Spes WwHMID wrH G WHYID &Y
13
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Which of the following is incorrectly paired?

(1) Monosomy — 2n-2
(2) Trisomy - 2n+1
(3) Tetrasbmy - 2n+2
(4) Nullisomy - 2n+3

(A) (1) and (2)

(B) (1) and (3)

(C) (2) and (4)

& (1) and (@

(E) Answer not known
SipserTLcuppieT oTg SMLTET GeneRTiicia.

(1) CurGearnGami - 2n-2

(2) wgeyGemA - 2n + 1
(B) QuignCsrd — 2n+ 2
4) podGsmdl - 2n+3

A) (1) wppid (2)
B) (1) oppid (3)
© (@ wopo (@)

D) (1) wpmw (4)
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|.Physiology, 2_L_60ILLI6L
1

. The maxuﬁum hfe .span of thé queen honeybee is upto -
(A) 24years S B 21 years |
(C) 15 years R ‘M 5 years
'(‘E)‘ | Answer not k'nown. | _ R
@gwmﬂg@gsﬁuﬁ]m esqﬁasul_e eur@eqs s
@ 2Magn (B) 21m@|_|.o
(© Bages 00000 D) bagub

. When a bacterium is placed in nutrient solution if it moves positively
towards the nutrient solution and the phenomenon is said to be what?
R urslefluln <genr 2eare Hrausams Coréd misstLRD B ereusumm
Siep&sLILBSng ?

(A) Hibernation (B) Cytolysis
2_n&siblene @l&e @mii
Chemotaxis (D) Turbidity
Geudls gresmL_eb SUMBIGE HeoTenLd

3
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Glycolysis.takes place in- R B
@MGoplasta (8 Mitochondria
(O Chloroplast (D) Nucleus |

| (E) Answer not knowr_.l- | L

ﬁsnéw._’searrcﬂaﬁldv BenL-Gumd @Lm -———————%w

(A) _.IGDGI.'_GI._III_CI]GITI'I'E.L'D'- _. k (B) @mLGLn$neﬁﬁrLiﬂuJLb_

© usisatsnd (D) Puscfiuicy
4

The first step in the seed germination is imbibition of water which
induce the | | -

(A) Stimulation of plumule

(B) Breaking dormancy

(©) Growth of radicle

D esumes metabolic activities

(E) Answer not known

leng pamargpeiien psed flevawns St 2 HieseriLBn Cung, Qg aos sramGang?
A)  yoaEoHs sremn-LuGEps -

(B) s e pésd s LBEng

(C) eNegGeur cuarimg

D) Qs Quésid garkEing
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. The term ‘Emasculation’ refers to
‘Qrav@Caager arann Qemd agmen GHUARSHDG.

(A) Removal of flowers
wereu hé@aug
6 Removal of anthers
LETHS STeTsmer B&Eug)
(C) Removal of carpels
GEEDS béGaug
(D) Removal of perianth
yellgpamar féGeug)

6

The atmospheric carbon dioxide enters into the plants through the process of -
W Photosynthesis (B) Assimilation
(C) Respiration (D) Decomposition
(E) Answer not known '

adaflvam e srivear oL smev® (CO2) srarmsepsEda o Gsogib Hspey

eramiL(pib. _
(A) gefsCsrsans (B) e drdgse
(C) sarflgsed (D) fAevgssd
7
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Which of the following factors necessary for photosynthesis?

(A) Sunlight, Xanthophyll, Carbondioxide, Water

(B) Carbondioxide, Water, Sunlight, Heat

W Water, Carbon dioxide, Sunlight, Chlorophyll

(D) Sunlight, Sulphur dioxide, Water, Chlorophyll

(E) Answer not known

S serTLcuhHmerT Qaﬂ#G&r’résenasés@ Caeneuwimen a;rrqmﬂa;aj‘r.
(A) @ﬂu_l gafl, enpCamide, arudaiaL sma®, bi
(B) sriudieL &m0, Bi, @Glu gaf, Geﬁuuﬂa}m
(C) B, srfudter ysme®, Giu gafl, uFmswbd

D) Glu gefl, spss oL Ysms®, Si, LEmswD
8

. Xylem tissue is composed of
engeid Sl <6018

(A) Tracheids, Fibres and Companion Cells
L T&ERSET, BITEFOSRET LHMID Faer Cadad

(B) Tracheids, Vessels and Sieve Elements
LrEEEsd, Qesudsd nHnib saaa Dewser
(C) Tracheids, Parenchyma, Fihves and Companion Cells
Wy TEEQEET, ungarensioT, BriEsdast HmID Feaar Doas
(Dﬁ‘racheids, Fibres, Vessels and Parenchyma
9. T5E&([D1SET, gnﬁ®5®$£‘|‘-, oueneiaa WHIHID LNTEsTEn s
TN A R S A G e R g TR
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9. The chief function of velamen tissue in plants
sreurhiseafd Caabns Asalar apadin L

(A) Storage of food materials
gameill AumEtsasar Gabluug
(B}Absorptiun of meisture from air
arpiladmbs FIlussans = nEhsag)
(C) Synthesize of food materials
g amma GumplsensT SWrhitiug
(D) Conduction of food material
e emreyls DUmBL SeneT SLGRIaIE

(E) Answer not known
aflenl: Ggfwusildaena

0. ‘Guttation’ takes place through
‘Eirssflay B s ool menl Gumsps

(AW Hydathode (B) Lenticel
engnL GEm Glanaimg Gled
(C) Stomata (D) Cuticle
Elenardsjenar Ay iy dlar
(B} Answer not known
eflen Glafiuciideana
10
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Assertion [A]
smaE (A

Reason [R]

smranmit [R]

Atelectasis means collapse of the alveoli.

SigGos rallas  edmugy  menguitd  smim m@meU
Geglomlsugsngin.

Total obstruction of the airway and lack of surfactant
in the fluid lining of the alveali.

sThplUrens  appeigid  Gepoeleaig  bDmh  SEom
mamanuufer Cupuriy Sy @enpeagh Sy,

(A) Assertion [A] is wrong, Reason [R] is correct.

smsg [Al saug, srremd [R] &
(B) Assertion [A] and Heason [R] are correct but Reason [R] does not
explain Agsertion [A].

smagn [A]l smpemaon [R] afl, syemad smrems [B] smses [A
chlarbigeugns enmuialicienc

{C) Assertion [A] and Reason [R] are wrong.

] A [A] EMTEITLpID [R] Seumi
(D) sertion [A] and Reaszon [R] are correct, Reason [R] explains
Assertion [A].

smasib [A] sroarwpn [R] &, srremid [R] smsos [A] dlomrssdng.

(E) Answer not known
alenL. Gafleildama

11

.. In the body wall of ascaris, the correct sequence of layers from outside

towards inner side is

o mevetip 2@ aseufléd, GQauealllier Qmba 261 LsSHLTE 2 6dter BHEGSMen

sflwrer cuflens

\6 Cuticle, epidermis, longitudinal muscles
&l 14850, Cuatsred, Serwrar samssar

(B) Cuticle, epidermis, longitudinal and circular muscles
sl gad, Cuatsrd, Sarwrar ganasdt WHMID UL SMEsHET

(C) Epidermis, longitudinal and circular muscles, cuticle

CuaCsre, Berwrar WHMID UL SMFHET, SLLL Ig&H

(D) Epidermis, cuticle, longitudinal muscles
CuaCsme, Swy 1660, Berwrer saasar

12
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Which of the following events oceur during hibernation in animals?
Eefllteras opss  dHooude dotssd Grssbblungs.  SpEsaTiadmer
apPsbaysd Fm GuEng?

(1) Owygen consumption rate is reduced
e rallpar para) dldsh manssuufdng

(ii) Heart beat rate of animal is increased
elawimsatlsr Baussigiy sdsfsdpg

(iii) The body temperature falls 1-2°C below the environmental
temperature

a1 & QautiuBes shpswed Gatiufassy o 1-2'C 46 Eandng

(A) (i) and (i) are correct (B¥(1) and (iii) are correct
(1) wpmn (i1) sflwirerene (i) wpmn ({ii) sflurarsna
(C) (i1) and (iii) are correct (D) (i11) enly correct
(11) wppn (1) sAureraas (111) we @G sfureanz

(E)  Answer not known
alilan. Gsflweidamea

GLAND
13

6. In bats, Sweat glands are located in the
Qeuereunésafiey aflwiremeuairiiger sreamiuBb @)L

'{ Sides of the head (B) Abdomen

Faneuilem LIS&HeuMLILg.6) euullmy
(C) Ears (D) Eyes
&G &6 & GU0T & 6T
14
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Acidity if any in the urathrai after pa_ssagé of urine is neutralized by the

secretion of :

(A) Prostate Gland

(B) Perinaeal Gland

(C) Rectal Gland

(D)Vsowper’s Gland

(E) Answer not known . _ _ |

Apdr 058 Gen ﬁgﬁn@gnuﬁ\@ qmu@m atﬁlwg,gsmmwmu.s p@ﬂm@auu@g@m
UI_II_] oy srssLupE mgg -

(A) yGrmevGLL &yd

(B) Quflalwe &yl

C) wesE® s

(D) Qseruien s

EYE
15

converts the light rays into impulses and sends the signals
to the brain through the optic nerve.

M Retina
(B) Cornea
(C) Sclera
(D) Lens

(E) Answer not known
peflsasdisemen largram_daserms wrHdl Deubepnls umiemeu BHrbler
aflurs epaerd@ el uamflsmers Celidleng.

@) gsper
B) srraflwr
(C) evdeflgm
D) Qeerns

TEETH
16
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The dental formula of man 1s
waflgafen Ld @GSHTd '

0033
A
3133

( 2123
2123

BLOOD
17

2033
1023

1003
1003

(B)

(D)

{." an blood grouplng WaS‘ dlscovered by
| (j

Landstemer -
( Punett
"(C) : Correns_.‘
() Muller o

(E) An’swer'.not known

.' .Lneoﬂg, @Ugg mm&amm& mwn._,uﬁl‘r_r;gsurr

- (A) - Gsusb'n__m)taswrrr f

B L;m@m._ -
©) Gasrr@uysn'rau |
o |
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Hemocyanin is
anCurswailer ererug

(A) Zinc containing protein ({Cu containing protein
555BM&D Qarame yrsw srllgd Qarar . Lrsw
(C) Not a protein (D) Fe containing protein
LIS @deame @mby GererL yrghd
19

. Choose the following pair which lack nucleus in the human blood.
(A) Neutrophils and Eosinophils
(B) Basophils and Lymphocytes
(C). Monocytes and Eosinophils
M Matured erythrocytes and Thrombocytes
(E) Answer not known
wafls Qréssdo oL am Goors Qaarsmars CsibAsHEsaD.
Q) Pyt CrreQésedr wppid FACaTSHAbaer
(B) GuGsriQaser whpmd SibCurensl ser
(C) CurGamesiser whmib FAGaTSNds6T
D) died s pg aflsCrrens Gaer wHEID ﬂgn&@.mm&t.@aseh

20

. Individuals with —————— blood group is called universal Donor.

eramm  (&(m Gfefenens FTiBgOUT 2 Q8 &mS QarepLwimarr GI'GBTQ-)]
SIDPESLIURGUIT.

(A) AB 0

© A (D) B
REPRODUCTIVE
21
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Arrange the hormones in order during the female reproductive cycle.
Guar QaruQumss swHdulen euflensulier apriGurarsemar auflensliLBSsayLb.

(1) Luteinizing hormone
Qgmenfliy apmiGomesr

(2) Progesterone
YGrrQggev 1 Crmebr

(3) Prolactin
LuCrreonéig et

(4) Follicle stimulating hormone
SHpLeL. gramhib anmiGumesr

(A) 2,4,1,8
B) 4,1,2,3
©) 3,4,1,2

1,4,2,3

J.Nutrition, Health and Hygiene, Human Diseases.
261" | §&§ 8!, BCIMESEILLD LMHMID &STHMILD, 6wl CHTiser
1.
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Which of the following is an example of Zoonotic disease?
(A) - Leprosy
(B) Diphtheria
Rabies
(D) Amoebiasis
(E) Answer not known

GereumeuameuhmieT erg eleniGselb @mbs walsa@é@ eumb Crmu?
(A) QsrCorw

(B) QsrawenL <ieLLiumer

(C) Crlev

D) e Qurdlev

2
. What is the Vaccine given for polio?

(A) IPV (Inactivated Polio Vaccine)
(B) OPYV (Oral Polio Vaccine)

(C) BCG
@ IPV and OPV

(E) Answer not known

CurallGumrellhésmer sHILLE erarer?
(A) wpswrssiul L CuISGUT wmbS
(B)  aumueufl GureliGum @Y Wb
(©) Q\ag ‘

D) wpswrsstucL GuidCur sGUY WL@HHS wHPL eritey CumaGuir
0L LObE ,
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Minamata disease, a neurological disorder affecting human beings, is
caused by the pollutant

(A) Arsenic
(B) Copper

W Mercury

(D) Aluminium
(E) Answer not known

Qemeumd  @ps s WaGolir  Cpmi”  aeriu@b weflsiseflan  BrbL
waT_adms s1EEh Corilaer ghubSsIHDNS 2

(A) <yisafls
(B) smfgd
(C)  ungpsibd
D) <gbalubd
4
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Malaria fe\_?ér is éau’sed by wh-ith of the folldwing parasite

(4) Plasmodium Vivax
(B) P.Malarise

© P Falcmarum

m A]J Of these |

(E) Answer not known

£|Epaa;mn_mg)g|m ereneu wGeaflwm Gm:rmm &mn_ms@m @l.@emmﬂ

A) GemmaivGLomg Wb eneuey e

B 9. Gl

(0)} |5I.§°ourfd3é]urrmb'-_
D) oo s@assd

5
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. An important 1ndloator of nutrition deﬁc1ency 1S
(A)Anaemla '

(B) Obesity

(C) Kidney failure

(D) Night blindness

(E) Answer not known

par’ sl @epUIT g ér ooﬁﬁlu Slc
A Qusss Gerens

B) oL L(LoE

(C) Ayiprs G&maﬂguq

D) @rey BH-OssEdL
6

The prlmary organ 1nfected dunng tuberculosis is

(A) Bone marrow o __ (B) Intestlne
(0) Spleen o (D)\(ngs
(E) Answer not known

a;rr&Gg;rruElmrrm urrg‘,]&a;uu@Lo (y)g,eb'ra)m &Q!I_I‘L[ u.lrrg;j?
(A ar@iby wReg. S (B) GLD |

| (C) ey - ‘(D)_ Blenguiyed

7
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The primary contaminant included in cigar smoke is

(A) Carbon monoxide and dioxide

(B) Carbon monoxide and Nicotine
(O) arbon monoxide and Benzene

D) Dioxicine and benzene

(E) Answer not known

fs@rl yensule 2 arer (psevblena s
(A) smiuen Curaméas( LHMID Ly sasH
(B) smiuer Gunenréens® whmid B&ECsmg.en |
(C) - sriruen Gureméams® whpib Quendler |
D) oLesdmsd wbmbd Quendar
. The main component of the food which helps our body to fight against

infections is
Bog 2 amellar wpsslw uGHwurseynd Cuogib Crru GstHflemer adlisg Gumym

2 gall Qawieug)b QY GLD.

(A) Carbohydrate (BY Protein
smiGureanl Gyl Yrsib

(C) Fat (D) Starch
Gampiy QUL TT&S
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Identlfy the mcorrectly matched deficiency disorder.
(A). Vltamln Bs — Pellagra

(B) Vltamm Bs — Dermatitis

(CWNitamin B; - Beriberi

(D) Vitamin Bis — Perinicious Anaemia

(E) Answer not known

geuprals QurmssLuL_Herer Gopur® Gmmu&lméur-e#aim..gﬁla.
(A) el flarBs - G_umqekﬁw

(B) e Liflen Bg - @Llﬁ‘LDII'Lq.I'_Gi'D

(C) el Llen Be - Qulﬂ Quft -

D) eeuliflen Biz - '- 2. WeruGuréED @r,r;s@ qurén.ss
10

The element that combines w1th other elements to make medlcme for
treating diarrhea :

(AV"Bismuth S | S
(B) Zinc | | | |

(C) Calcium

(D) Gold

(E) k-Answer not knewn :

THS g,aﬂmgmg, LOHM gaﬂmm&@;Lm Gairsg) muﬂ]mgu@uw@ #\é\m&s@ m@g,g,rrsu
uumu@g,gaﬁlmmm? '

(A) Qevws
(R

(€C) sredwb

D) srsd

1
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The excess quantities of leads to cause of Breast Cancer in
our body.

Bog 2L dld —— wflab 2 meureugmed wriug UhmCrmu ghuBdng.
(A)\/ﬁ[elatonin (B) Diapause

ClweGLrefler L WILITGEN)
(C) Serotonin (D) Adrenin

ClerCLmefler 2i"_fTafler

12

Insulin was discovered by
@ eGenan (LPSe WPFSOTE SHETL M BSH6TH6T
(A) Alex and Nicholas
SQawsev wHmib HGsTLE
(B) Mayer and Wilson
Cuwit wHmibd eNeogen
6 Banting and Best
Cuaimg iy whmb Guevr
(D) Robert and Jacob
grufl wHnb CassLs

13
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The Causative Organism Bordetella Pertussis affecting the respiratory
tract causes — disease.

(A) Diphtheria

(B) Tuberculosis

(C) Polio Myelitis

M Whooping Cough

(E) Answer not known |

Cpmis smyefluner CUMTALALdT QUIGAD saurss Gl uGHow LTHss)
—— Gpreow goudssng.

(A) Qgramenr =ppé Crmis

(B) smsCrmw

(C) CuraliGumr ewedlig e

(D) ss@eumer @mwe
14

Among the following animals, whose saliva contains the bio-chemical
substance used for the preparation of pharmaceutical drugs that can
treat hypertension.

(A) Oryctolagus Cuniculus

(B) Calotes Versicolor

(C) Rana Hexadactyla
Hirudinaria granulosa

(E) Answer not known
Epsargnd  leom@selld o fpfie eder  Caud Qummernang  @U6s
I (PSSEMSS GHODEGD WHHSISET sWTMEs LweTu@erner.

(A) ¢AsCLrCasen &yeafEeen
(B) s&rCoriev QeufiafiGamei
(C) grerm Qamsevm_méig e

D) adfmgCarflwr HyrayCamsm

15
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Which of the following is incorrectly paired? |

1. NCPCR - National Cooperation for Protection of Child Rights
2. NIDDM - Non-Insulin Dependent Diabetes Mellites

3. ELISA - Enzyme Linked Insulin Sorbent Assay

4. NACO ° — National AIDS Control Organisation

(A) 2and3 (B) 1and 4

WlandS " (D) 2and 4

(E) Answer not known

£Gy QsrRssuLL eraraaselid ama sfuns QUIGESTS @)mar.

1. NCPCR - @ggf)aigasm s Qpay ungisTuGnsrer Coflw yememmuid
2. NIDDM - @ésdier smyns Sy Comi |

3. ELISA - Qpnd snips @ensellen o fgraens wdiSH

4. NACO - Gsfliu eriiev sLHUUT.H S@wliy
A) 2 opgw 3 B) 1 wppw 4
©) 1 wpmb 3 D) 2 whmw 4
16
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166. It is a condition in which the Immune system mistakenly attacks
body’s own cells and tissues. Normally, body has the tolerance against
self antigen. However, in some occasions the tolerance fails or becomes
incomplete against self antigen. It leads to the activation of
T Lymphocytes or production of B Lymphocytes. This disease is
produced when body’s normal tolerance decreased and the immune
system fails to recognize the body's own tissues as “Self”.

Cpmi sROurhHpe o1 aflen @&ﬂ'l[hﬁ Gedsdr wpmb Hesaer srsmh Moo G
Gungiauns 21 & sw g Coayde cdmmer Fdlhiys sdrenneniusd DaremBerarg).

Erodany Aa sisrouksalda, sduus seann Conaelua fng sdag ow

Speirg Qenemde ardlrrs  popenwenwng. @& g SlbGurensl HEdT dag
G dloGurens’ fsaflar o husdlas wflaEmsdng. o dldn @méﬂuﬁm &£I|_'||_|$

serenn  @ephg, Cerlufiiy senwiy o e l:IEHJE:ﬁ Ssssamer “swions”
sitidsflsss geuflammd Ehs Cpmi e mamdmg.

This passage signifies the following condition :
Cupsam_mea Sereumib ehs Blubsemaenws @bladpg :
(A)  Autocraft Rejection

g Gurdlgmloc. Slrraficiy
{B]Autu Immune Disease

sergLd sndeE Crm
(C) Auto Antigen Disorder

gl G spemg Qepetr Gamarmy
(D) Acquired Immune Disease

gy Gerugiciyg Grmo

17

.. A viral vector vaccine produced by serum Institute of India, to fight

against Covid — 19 infection is

@rsu Frv fpeuerdsred surfssiuce GCsrefll - 19 Qsmimse adyrss

QewdUBD Q@ eare sLESH SHLULE es).

(A) Covaxin W Covishield
Cameumd&lesr CareflageH
(C) Corbevax (D) Sputnik - v
CamiriCGousav eyl hls - v

18
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The Covaxin vaccine was manufactured by which Research Laboratory?
CanrGausflen sQUUADW ehs @ ymiéd figeand o husd Qeudeanmng
(A)  Serum Institute, Pune
&b Hlmieuerid, LGear
(B)WBharat Biotech, Hyderabad
ungg uGunGLs, epamsyruTs
(C) Rajiv Gandhi Centre for Biotechnology, Trivandrum
predeusnhd o uqi CQsrfldm L ewwib, Slpeuaib LD
(D) Institute of Life Sciences, Bhubaneshwar
el sifleflud Bmeuarnd, LeuGareveuir

P

19

In which year was the word “Corona virus” used in the scientific journal
“Nature”? |

sCrrenm @eugen ararp Gemd psear gl “‘Cpsi” bl ez
Qeuefludl L per(H 618 ?

(A) 1978 (B) 1986

« 1968 (D) 1966

K.Environment and Ecology.

SHDIE 6L LHMILD & Lp65ILIeD
1
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The UN conferenc’e of Environment and development is popularly known

as *
(A) Montreal protocol
(B) Basel conference
(C) Kyoto protocol
Earth summit
(E) Answer not known
FHDIESLS LHND Cubur ssrer .6 LIETEH YruWLTs GTesT
S P&EsLILHE DS
(A) wrerAwe ApHaperm
(B) Cuse wrpr@
(C) HCGwm GLr Apdepep
(D) 5,:.51 o &8 mrr;_r,rr@
2

How do you call the orgamsms mhablt the bottom of the aquatlc bodws” |

A
B)
©

o

Nektomc

| Planktomc

enthic

Thermic

(E) Answer not known

B ﬂwm&aﬂm cg|,gpi_|3rr<~;tﬁ éllq.ﬁﬁl’.@&ﬂﬂ-é) QUITUpLD 2 WferiiEamaT eTeueuTmy
amg;uurru_l? : o o o

(A) QpsCreils

(B) ._ ﬁ_mnr&;@q.rraﬂ&

©) Quenpdé |

® Gsmss -
; . _
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How many biosphere reserves are there in India?

@rdwreild eagsemer 2 uli Garer STULIGRISET 2 6TeTe ?

A) 22
(B) 23
' 18
D) 16

. Match the given animals with their respective species.
EC Qamhésuul L ellomi@saner eunbler sflurer GermsepLer Qummsg)

(a) Endangered species G

DUSSTET @) TBISET

Wild buffalow

&STL_(h &T(HEnLd

(b) Vulnerable species 2.  Asiatic cheetah
LTHEE0IULESIG W Q)ebseT <A Lyl
(¢) Rare species 3.  Crocodile
oiflsren @ amsdr PSD®
(d) Extinct species | 4.  Dolphines
sPfhg Curen Gearkiser Lmedss Qb
(@ (b © (@
uﬁr 3 4 1 2
(B) 2 4 1 3
©) 3 1 4 2
(D) 2 3 4 1
5
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The Zoological survey of India has recommended to tag which of these
turtles along the Rushikulya river mouth in Ganjam district for studying
the migration route of these endangered species
@Qpdu  eondard sas@spiy @wLussd Spss@T_DMET a5 SERFD
wreul L sHé 2 6rer wmEGawr @‘@/@ﬂm afurs aoasCurgd 2ifibg e
@amigenar @yrmu @Ml GeLwdul Herarg
(A) Indian Black Turtle

BEAL 5GLL e
(B) Green Sea Turtle

UF@T SL6D B
%’ Olive Ridleys Turtle

Spedlel MLel yeno
(D) Indian Star Turtle

Gbdlu presdly oo
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Alterations in the environments represent selective pressures upon the

populaﬁon to which it must adjust. This statement infers that

(A) Organisms will increase in population in a changed environment

(BWgani_sms which fail to adjust to the changed environment must
vanish

(C) Organisms will alter their morphology to adapt to changes in the

environment
(D) Organisms will change the environment under selective pressure

(E) Answer not known

&ﬁj@]#@@aﬂéo FHuBD mng’;mrﬁseﬁ. n&ser [ ger Qg,rrmému.x# &fl Qediw Gms&qﬁ_l

Comp@shesuulL.  Sipssmsmars Ghsdamen cre&rumg,. QBs asns

2 caritgzifipg, | o | ,

@A)  wrasb @pdd o Gfarhsd Agtms sfshig

B) v GaEE FHL TPIs &uﬁlﬁ]w@s& <fHg! G‘urra'; Cof@n -

(C) sppsswadle gHURL wLIPPEGEHEE Thu e uGfammksd 5[5]5ng 2 (meu
SiewLieL orphls Gasndr@tb |

(D) Csipds@ssiulL SwsssHean &1 o WRemiisdT Gpaa wrHHD
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was the first mission to be operationalized under the
Natlonal Action Plan on Climate Change (NAPCC).

(A) Solar Cities Programme (SCP)

(Bmtlonal Solar Mission (NSM)

(C) Solar Green Building (SGB)

(D) Development of Solar Cities (DSC)

(E) Answer not known

sre flovw LIHPL GNSS - Caflu Qswe HUL shan £ Qrudu@ggruL 2.dmeT pse
Lwfl G-

A) Giu gef pariser AULb
(B) Gsflwu gMw qef Laxf

(©C) @flu gl usms sigLLb

D) ©flwge g&urﬁaésaﬁdﬂ: cuaTT&S)

Which Biodiversity park in India was announced as the 1st “Other
Effective Area — based Conservation Measures” (OECMs) site?

(A) Tilpath Valley Biodiversity Park
(BW™ Aravalli Biodiversity Park

(C) Yamuna Biodiversity Park

(D) Adayar Ecopark |

(E) Answer not known

. @pHwirelics o drer eThs LIOEUITTI LLEIST, APSOTGIS LIL@ETT LigH STiHE LNgsmL
garons (OECMs) eifieféasiiul Herers '
(A) oL LeTaTSSTEEG LO@IUITL LbisT
(B) %?lyeusbcﬁl Lisogustils Lymigm |
(C)  wqpent LU LyigsT
(D) seLwrmy sHNESYD LhisT
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. The process of establishment of an organism in a new habitat is known
as | | o

(A)/-ﬁesis- B (B Migration
(C) Immigration N - (D) Coaction
(E) Answer not known ' '

- @i o UGl ga@ AW eum@L g8 gemanan elfleyu@BGSEID Qawe eramug)

(A) ';Ele_pa)ﬁu@g@;d) (B) YeUQuwiFd
(© ©euipssd . (D) sscfilevan
10

. Which of the following tree is the tallest?
&G Qar@RissuulHererancusafleh 6Ths WIWL WD 2 WFOTEIE ?

(A) Pinus (B) Thuja
SN LIGITG angam
(C) Cryptomeria \ﬂﬂrSeguoia

HNuCGLrSfwum QssCswir

11
What is the role of CITES organisation?
CITES aranp fpeuengfen Qeuoun® g ?

(A) Promotion of space technology

efenQaeuefl Qgmflemurisamar CubuBSsieug

Prevention of trading of endangered biota

2y Haeulgreer 2 uifamsafier ewmunrrhisamer gL Qsiieug)
(C) Banning the trade of minerals

o Cansrseier edwrunyisener senL Qg

(D) Trading of electronic goods
Werargy QUTHLsmeT FHensLI(Hdgeug)
12
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Which one of the following is root parasite plant?

(A) Viscum (B) Cuscuta
(C) Loranthus M Rafflesia

(E) Answer not known
Spssam_cupde eahs sTaugw Caulr gL Hiamanfl greurwmE ?

(A) &fevsid (B) sevamiim
(C) Canrrensev (D) groerflwm
13

What term is used to describe the cultivation of plants without s0il?
(A) Aeroponics
(B) Lithoponics
(C) Fogponics
(D)/Hydroponiés
(E) Answer not known |
wararfldemne g,rrd-m;rm uuﬂﬂ@mg@@m @;55 Qsréd ummu@ggé\w
(A) unrrGurrebﬂm
B eﬂg@g;nﬁumﬂasau
(C) ur&Gureféav
D) - 'su'}‘a_n)l'_@qrrGuﬁ‘aﬂéssiu
14
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A food web consists of

D W6 GLUEMED GTETLIG)
(A) a portion of a food chain
2 amre s shdlalulen e LG
(B) producer, consumer and decomposers
o HusHwureniser, H&TGeurt LHDHID HangliLier
(CW 1nterlocking food chains
o awTe & Fridledludler Slepemtiiyy
(D) a set of similar consumers
55 HsTCeumilen Qgm@Liy

15
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Chipko movement was held under the leadership of
(A) Kailash Vidyarthi
(B) Medha Patkar
(C) Anna Hazare
Sunderlal Bahuguna
(E) Answer not known

AuCGasr Qusssms weraflenm L gHuwieur
(A) eseray efigwmid

(B) Gusgr ulsi

(C) amemrm ananCGry

(D) spsierd u@@eTT

16

). Which one of the following is not marine ecosystem?
Qereumeuateupdied THS GRemm HLO G Amwiibledr Gdongg) ?

(A) Estuary (B) Coral reefs
P WPSLD LIGUeT LITEMD&ET
(C) Sea @ Lake
SL6) agf

17
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The 27th session of the conference of the parties (cop 27) to the UNFCCC
will take place in Sharm el-sheikh, Egypt from 6-18 November 2022, in
connection with

UNFCCC-ssnmen siflseflenr wrpmiger (cop 27) 27%% swiey adludd o erar
(Sharm el-sheikh) agmb eré) Gos @ 6-18 paubuit 2022 Qe GTHE HNTERTLONG
BLSSLILBEDG ?

ﬁ Climate change

sreblenewmhmLd

(B) Carbon Tax
smiruer euil

(C) Carbon foot print
STTUGH ST F&H

(D) Conservation of threatened species
el AQ A AQAAARQA & e & Wl artirmasm’ T E T

18

The study of particular culture and region to make of use of Indigenous
plants is known as

EMUOLL uEHows srihs Uiu@y WEEE LLETUHSHID FTeT UwWeTUTHSET
updl Py wglGnhe ererer Guwi? :

(A) Taxonomy {Ethnobotany
Ldsnend erégCarmum_ L e
(C) Anthropology (D) Pomology
< BFTGUTRIE) Gumonegd
19
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The two major components of an Ecosystem are

G waTLSH T @(H WSHWSE FpSeT Tan JMPEHEHILHLME

(A) Ecologic and Edaphic

GWelwed wHMmL wen sryaflser

(B) Water and land

B wHmb Hleow
Abiotic and Biotic
2 WyHm wHmb 2 ulmerer sryaflaer

(D) Air and water

20

Globally wetlands are conserved with the designation of

sTHm wHmb Bir

which was signed in Iran, 1971.

Fyreiid, 1971@d as@usdluul @ QuuimLen rFrBleriger
2 @& Jerelled LNGsTESLILIHE e

\6 Ramsar sites

(B)
(©)

(D)

s——

21

P& SETRISET
National Parks
Caflu ymsnssar
Sanctuaries
ST QIS ET

Mega biodiversity centers
Qsar LOaIUIT LW BISET

. The average temperature of March 2022 is India’s highest temperature
in the last 122 years and it was very difficult to predict in advance. The
reason behind this is
g 202261 sgrefl Qeutiuflow sLps 122 yar@seller @QbdHureler sHsule
Qeuuufleoowungw, Coaib @as weaeamiyCu safluiugbd syeawrs @EbHSS.
@sen Meananfludieyr o arer smyewTd

) Climate change (B) La-Nino
umeufleaney AHDHLD or-flGarm
(C) Abelian (D) Perihelion
<1 Guedlwer QuAGan el wier
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22

Butterflies are recognised as sensitive indicators of an environmental
change and as an umbrella species whose targeted conservation benefits
wider communities of lesser known, threatened species. According to the
IUCN Red List categories the majority of the Umbrella species as being
uLLmbysfleer &HmsGed wrHopsddar o amidper (GHsTligsamaab, GaL
Qawrseyd rSsfssuubGdamer. eupdlear @a&@E uTHEMIY G®DNS
PO L SFEDSHD ulgwele 2erer 2 uilflaTisErsE Lwer elsdng.
ITUCN Qavuyu uigwelan uy oL Qamsaid QumburoraTene
aran uansL(HSSLILHEDS.
6 Endangered or threatened

P DORG AFENSHD
(B) Extinct

2flpg Guneng
(C) Least concern

GODHS Si&&MD
(D) Data deficient and not evaluated

ey Gpur® whnb wHISEH AeLwiuLeldaa

23

India also joined other nations in announcing a net zero emissions target
by the year
Blar y@mslu 2 llpe; Gosms Plefluude wHp BrEsesidar @B ured

Baahss. ——— 2L Sperigd Lol Glesemas enLujid
(A) Vﬁo (B) 2030
(C) 2050 (D) 2060

24
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Which of the following statement is/are incorrect?
(1) Pyramids of energy shape is always upright.

(1) Nilgiris bioreserve covering Tamil Nadu, Kerala and Karnataka
States.

(iii) Namdapha bioreserve is located in Andhra Pradesh.

(iv) Nandadevi bioreserve is located in Uttar Pradesh
Gereumeuareuniile) seupren spdlears Csib0sHEH6 .

D  yppder @ euQurysid Corms sramiu@ib.

i) fodfl eulisCsrer smiush sOPETH, Csperr,  sHHTLSD < 8w
wrilomsaid urel 2 drears.

(i) pwsur e WiECsrer STLILSD <pElT GrGsen wrflasdd o dearg,.
(iv) ppsT Csedl 2uliECarer smiLSD 2 8TGTCss wIHlosHD S@HFETaTS).

(A) (i) and (ii) only (BMiii) only
(1) wppd (i1) wr b (iii) wi (ib
(C) (iv) only (D) (ii) and (iii) only
(iv) o @b (ii) wpgio (iii) wr G
25

Which among the following is known as “Terror of Bengal™?
Werau(meuameunled “euramer Lwkisreurdl” erar S PEELILGS 82
(A) Algal Bloom

umé Lbser

(B Eichhornia Plant
gCarraflwr greurd

(C) Increased BOD

2 wihs 2 uIflwued ysellmear Camay
(D) Eutrophication

oar’ L auemih W@gSse

26
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is the dynamic process by which an organism maintains
and controls its internal environment despite disturbances from external
forces.

——————— eaang @ b dewdipapunEb, Gsearppetd g 2 wilarb g6
st @Gpoe Gasfluyy ssdsellimps Qsmhsresdar @ mBsCUTHID
urrofl&dng whpib sCGuuissdns.

(A) Hemostasis (B) Peristasis
@bl Lomeiy Lendlaiv Guflahenlev
(C) Vfﬂ)meost asis (D) Peristalsis
GanmSGuwmevL_ebleh GufevLedledl e

(E) Answer not known
allenL Qg flwelldene

27
0. Match the following :
Spsaramuaibann GurEiss |
(a) Silent Spring 1. Edward 0. Wilson
ensauenl etk eTLauii(R) . ofl g
(b) The mismeasure of man 2. Carl Sagan
£ fevClioet w Guoer sivén Geseir
{e) The Insect Societies 3. Stephen J. Gould
£ Blenblasl Cenmeig e auleLiar G, Gemdl
(d) The Cosmic Connection 4. Rachel Carson
& sreaulfls stlardager Gred) smirsem
(@ (® (@ (@
(A) 8 1 g B
(B) 4 2 3 1l
(C) 2 4 1 3
o»T 3 1 2
28

Forest Survey of India (FSI) was created with effect from
Bpdu suar siliey (FSI) e mandstuc § pogpeontu@sstuc 5
(A)/fune 1, 1981 (B) June 11, 1981

aen 1, 1981 sp@ar 11, 1981
(C) July 1, 1981 (D) July 11, 1981
axlanay 1, 1981 wfanan 11, 1981
i R R i e T e
29
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Read the following passage and answer the item that follows.

Populations that occupy separate geographical areas. Because of their
geographical separation, they can not interbreed, but would be expected
to do so if the geographic barrier between them were removed. The
separated populations evolve independently and adapt to their
respective environments, generating reproductive barriers between
them as a result of their separate evolutionary paths.

This passage is insisting.
Gereumd usHaw Lgsg, sigpanar CadaellsEg udaalssean.

o Wlamusar seligsal yalllWud uvEdsmar wsdrdsgeraer. Seubblen
yeduwe Gfelen smemons oeme @erssuy QEOw  PRWTE, T
saupmseoCuurar yalWwed soL BEsULLLIO SduuTD BLé@Gooern
adrurissuu@n. GAssuuiL ewWflamsd swurferors e (heurdpg WLHHD
Spshs GPEG Tppg. saflisalurar uflemmol urmgsetlar ellemereurs
SiauppsdeoCu QaitumEss SMLEMET 2 (HeuTsGE DS

@ps0 LEH g wdlynssSng.
'6 Allopatric speciation
CaupdL 2 Wflars CsmHmbd
(B) Peripatric speciation
@bilars Campow
(C) Sympatric speciation
efiL 2 ulfleng Carhpid
(D) Parapatric speciation
@aean aumflLé ApuiGenens Campmid

FL o1t 1

30

Enclosed and essentially self sufficient (but not necessarily isolated)
experimental environment or ecosvstem that 1s on a larger scale is
known as

ApLbutL.  whmh g lueniulld  senaflenmey  [mwenmay  sedlenwdiupssliu
GCauamguw eufwubldan) Grrzear Gpd oz Gufiu ereld E@maEb
SHmEEmpd Hennlil el Senpdsliubising

(AM Mesocosm (B) Microcosm
BGsrarsh enw&GrTETFD
(C) Macrocosm (D) Macrophyte
CGuaByrarsh CuaCrmenin’
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Which of the following statement will fit for Lamprey?
SP&EBTLuDMIET Thss sapm @mbliCréEE QUTmSSLNTsS BeWLb?
(1) Lives in sea and migrates to the rivers for spawning
sLedld aumpdlmg wHmb WreaLulGeaughars pHaeE wawms Qsodng
(11) Endoparasites
215 L (Herenflser
(1i1) Jawless animal
srenLwhp edlewmi&
(A) () and (ii) only
- (1) wpmyb (11) wE L
(B) (ii) only
(i1) wLEw
¥ () and Gii) only
(1) wHmd (111) wLHb
(D) (iii) only
(ii1) LW
32
The proportion of world total forest area occupied by the developing
countries 1s
auaT(bb Brpsarmed 2 sAqlsastiuc L o addr Quonsss sr@seller «9dsn

(A) 57.4%

BY54.7%
©) 55.7%
(D) 57.5%

104%

33
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In soil, the biodegradation process occurs quickest when the content of
oxygen in soil’s air is

waweniled, wamantlar srhdled seflgeaflen o drarL&sWb B (m&@ WD
Curgl wW&EWL Qewagpap lamreuns Hlabdpg.
(ﬁr higher than 0.2 mg O,/1
0.2 mg O,/1 sfswrs
(B) higher than 2 mg O,/
2 mg O,/1 fswrs
(C) higher than 0.2 mg/mol
0.2 mg/mol wfswrs

(D) higher than 2 mg/mol
2 mg/mol o fswrs

34

A recently discovered fossil “Eophylica Priscastellata” from Myanmar
was a

Samowuido  Wwuraofle  serefuoule Ggrogudr  “@QCwuremudsst
KWRevsmev@L )Gl L’ eramug

(A) Butterfly

UL LmbLy&él
(B) Fern
Quiyenfl
(CY Flower
LOQIT
(D) Rhinoceros
SresrLmbl(H&LD
35
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. India adds 11 more wetlands to the list of RAMSAR sites to make a total
of Ramsar sites covering an area of 13, 26, 677 ha in the year
2022.

2022 b sypaimged mm-iger 13, 26, 677 QapsGLi ugtineTaeus Ganem

gribent serhisenar 2 (meunds @hAwur Coenbd 11 myhlomsamer gmbant serraeter
Ll g wisbley Caigsg.

(A)/"FS

B) 79
() 50
(D) 56

L.CURRENT AFFAIRS

DAYS
1
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Match :

Qumrms g%
(a) World Earth Day 1. February 4
&euCse Lol Bmer Qugeuf 4
(b) International Day 2. dJune 8
of Biodiversity
gieuCse 2 whlarls sx¥eir 8

LIGTenLD [BTeT

(¢) World Cancer Day 3. May 22

2 sl YHmGHm Brer Gw 22
(d) World Ocean Day 4. April 22
2 & QUBRISL® BIET gLrige 22

@ m @© @

4 3

1 2
B) 3 1 4 2
(C) 2 3 4 1
(D) 3 4 1 2
ISRO
2
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Which of the following are incorrectly paired?

SP&ETHTUCUDHDIET TG SEUDTS (3)6nawT HSIeTeTes ?

1. Gaganyaan project — DFRS
ggemumren HLUL b - DFRS
2. Chandrayaan 2 - CES
shSgmuner 2 B CES
3. Communication satellite - GSAT-24
ssaud Agriiy QswuhamsCarar - GSAT-24
4. Small satellite launch vehicle - SSLV-D1/EOS-02
APlw QewpensCaner gay eursartd - SSLV-D1/EOS-02
(landz (B) 2and 4
1 womd 2 2 wpgib 4
(C) 3and4 (D) 2and 3
3 wHmbd 4 2 wHyibd 3

3

Which one is the Poineer satellite of India?
@hHwuredlen Hws Qsupans Camer erg) ?

(A) Bhaskara

UGS T

@ Aryabhata

SQprwucem
(C) PSLV

9l ereiv eTéd &l
(D) INSAT

@ eam
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4

Which is the first communication satellite in INSAT series?
(A) EDUSAT

@ INSAT 1B

(C) GSAT

(D) HAMSAT

(E) Answer not known

saud Qgmmdpsns gauiulL (pgd Gearsr. aflams QewupamasCanar erg)?
A) agere |

(B) @ensm - 1B

(C) e

(D) apmbem.
5

ISRO executed this mission in October 2022. The vehicle launched in the
mission was

A LVM-1

(D) GSLV-12
(E) Answer not known

2022 <oy a® <&CLmur wrsd ISRO @sdi s Csuoupsdug.

gaulL sogdar GQuwir,

A) LVM-1

(B LVM-2

(C) LVM-3

(D) GSLV-12
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EOS-04 Earth Observation Satellite was injected by India’s
rocket

EOS-04 ‘e’ samsnenfluy QswpenssGsaner @pHwumeer Tr&QasL
e QegdsiuLg.
(A) PSLV - C53 & PSLV _ C52
(C) PSLV-C51 (D) PSLV - C50
7

. India launched its 41st Scientific Expedition to Antarctica in the year
(4]

@iy sarelparer 41 cugy dlelwd Fribs LwaTS®S @ bW
Fleusdlwug).

(A) 2019 B) 2020
w7 2021 (D) 2022
8
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Which of the following Mars space craft program are/is incorrectly paired

(1)
(2)
3
4

(A)

Tianwen-1 — Planetary Exploration — China
United Arab Emirates — Hope Orbiter

NASA — Perseverance rover

‘India — Technology demonstrator satellite

(1) and (2) only
(2) and (3) only

%Cf (4) only

(D) (1), (2) and (3) only

(E) Answer not known

“eneumeuareupdled  erhg  Gocueumi  eflamae  HLmsar/SLLb
@enanaaiLL_(HeTeng) 2

(1) guwrenQouen-1 — Ganeansafean piiey — &arm

() gsdw wiry aSyssden elemsan — pbAésms @A
(3) NASA- @Ln@mmﬁ Crreufr

(4) @sdwur - Asmfe mru Qswdalarés Qsupass Camar
4) (1) wopw (2) weGw

B) (2 wppd (3) 0 G

©) @) vreon

D) (1), (2) wopgd (3) wLBbd
9
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2. Name the produect for which the Agnikul Cosmos has secured first patent
for the design and manufacturing

SEailgd stanGorsy aigeimoti whmb o husflisiar wsd sriyflawenud
Cupm swnflider Quwenrs @S eyb

(A) Rocket engine
TrablaL ereghleir
(B)‘ﬂl) — Printed rocket engine

3D — &AL Ul L grats eTeiT gy el

(C) Automated rocket engine
sreflwndl praGs’ Guikdyb

(D) Satellite

Qeuipe@ssCune
10
. World green city Award 2022 was received by
(A) Bangalore
(B) Cochin
M Hyderabad
(D) Kodaikkanal

(E) Answer not known

&w&; usew Barb dlmg 2022 uppg
@) s '
(B) Qarsflen

(C) eansyrung

(D) QsrenLssrand

11
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The Bot project designed by the researchers at the IIT, Ropar, to deliver
medicine and food to Covid — 19 patients in isolation ward is
gail@wuu@ssuurL. arihseld oder Camel - 19 Cpmunallsa@rss WwWHHS
LHPID 2o wkGagHsTs Crrufléd 2erer Qpdw Dsmbldp U sassler
(BRg) SIMUFHWTeTTHEETTE) GuUlgeueWESUILLL UMl S Lgdler Quuwir ererer?

(A) Covid Bot d Ward Bot
Camell L QumTHum
(C) Food Bot (D) Medico Bot
gl Qg Camum
12

In which City of Tamilnadu, a floating solar power plant with 25.3 MW
DC/22 MW AC capacity was inaugurated in March 20227

slpssfaerar aps persdd, 25.3 MW DC wimn 22 MW AC fper Qereme
WssEsn @iu dassd Seawun Qsrfstul g ?

(AW Thoothulkudi (B) Chennai
EAE AL (6l Feimen et
(C) Ramanathapuram (D) Kanyakumari
@U"mlﬁﬂﬁum &Eﬂiﬂﬂu_lir@mﬁl
13
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Match the following and choose the correct option :
Spssremusubenn Qummsd whmn sflurar llen e BaiEdsHssayib ;

(a) Environment Protection 1. India REACH
FHmIE P& LSSl Eesur REACH

(b) Insurance for Employees 2. FSSAI
Aemilenrarisenssrar srii FS5A1

(¢) Chemical Management and Safety 3. Umbrella Act
Geudliblummer Guanemeno @EenL FlLib
wbhmh LI EmiLy

(d) Food Safety 4. ESIC
B ewTayLl) LITSSmiLy ESIC
(B ) (& (d

(A) 4 3 1 2

(B)A 4 1 2

C) 2 4 | 3

(D) 2 3 4 1

14

Vinisha Umasankar is related to

eileflenr e nremal argey o AsTtUsmLLaiT?

(A)  BG Telecommunication (B) Waste Management
560l Qamenaumn iy sifla) Cuoamarenn
(C)w*Solar Ironing Cart (D) Wind Energy Technalogy
Gl gofl svena) Gupdnn sthprene GEmfdme L

(E} Answer not known
aflen Qufluel denen

Aceording to the NCRB veport, 2022
drunken-drive fatalities of the year 2021.

— ity 18 topped in

NCRB, 2022 sifiseabauy 2021 wmib syergd &g Gurena e arsans i

euilfipliuda —— - B&ETD (gl gl e drarg.
(W ndhiana (B] Chenmat
ganehlu rem Qg g
(C)  Delhi (D} Mumbai
Gshafl Aniham
15
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CSIR (Council of Scientific and Industrial Research) is an autonomous
body registered under the

CSIR (@fefud whmb Gsmies ey weaDD) sl S@wLUTS
& udley QauiwtiulLg.
¥ Registration of Societies Act of 1860
1860-6n 2 anLwi sepss s Lsdanemw udellen
(B) Registration of Indian Act of 1860
1860-é 2. L w @pHwé s sdayenw uellen
(C) Registration of Civil Act of 1860
1860-6in 2 v w @uwfenws sl sHauenw uelen
(D) Registration of Developmental Act of 1860
1860-éin 2 L w Cubur (& s_LgHanemw udeler

16

In which state, India’s first commercial space situational awareness
observatory, to track objects as small as 10 cm in size orbiting the earth,
will be set up in

@bdwurelen ans wrhasdd, ydews sHH @b 10 Qs eTeydrer
QurpLsemens sanstafisés wsd euais olaneust @pHoe NP0y ey
sETETERALILGD SMWESIUL. 2 6Teng) ?

(A) Assam ﬁUttarkhand
S|FMLD 2 550& e
(C) Mumbai (D) Chennai
Wpanu Qgeran e
17
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18

. The Nobel prize in chemistry for the year 2009 was awarded for

2009-w &l CafVugsster  GCerue ufls ————&ans
QUPRISLILIL L g).
(A) “the directed evolution of enzymes”

Aprdsafler QussuucL uflammwsdins
W “the studies of the structure and function of ribosome”

@yGurCsmbler s enwiiy whHmb Qewodur® ubdu LI ST
(C) “mechanistic studies of DNA repair”

G eTENE e L(WSHIUMTEELD Quibdreilucd y,uieyser
(D) “Studies of G-protein-coupled receptors”

- B-yysib-Qevenhs eplsaflen <y uiciser

. Using a website to pour out one’s grievances is called

2@ wallgailer Caugmasmar aummgend apab QaTBeuddr Wwans@ Quui

'ﬁ cyber venting (B) web hate
mauit Cleueiy i Qeuts Ganr-
(C) web anger (D) cyber abuse
Qeuls <y msi ansuiT e
19
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“The future of manufacturing” — 3D printing is prefered than traditional
manufacturing is due to which of the following reasons? .
(A) Cost reduction
(B)  Quality and Faster marketing
(C) Low wastage

.ﬂ? All the above
(E) Answer not known
aéisre o pusd Qeigadled wplufliorer siFs wep wLIY &MTbS &;j)ugﬁmu_lé
STl @it GAmHBLLILEEHDS! eTHETED?
(&)  eilow Gopay
(B) s wppid eflereuren efipuiear
(C) eopps sfa
(D) @meﬁ GrOELD :
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Name the Indian-AIﬁerican aerospace engineer who led the ‘NASA'S
MARS 2020 MISSION’.

(A) N. Valarmathi

w Swati Mohan

(C) Kalpana Chawla

(D) Devaki

(E) Answer not known

@pdu - <Qwfss ar@eefls @urblurart, preTefiear GseuamL 2020 S
Qeuéur@amer culd HLSSwiai.

(A) . eueritog)

(B) eveurd) Corsen

(C) souen geuer

(D) Gsaud

SYED youtube channel : https://youtube.com/@Syedexamguidance
Telegram channel : https://telegram.me/syedtnpsc

175


https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

21

What 1s the diséovery of Japanese Isamu Akasaki who was awarded

Nobel Prize for physics in the year 2014?

(A) Discovered that black hole formation is a prediction of g.eneral

theory of relativity.
(B) Discoveries in theoretical cosmology
(C) Inventions in the field of laser physics
V Invention of blue light emitting diode

(E) Answer not known
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